FHITTE

TURNING TOOL HOLDER

usékénp




. Definition For External Turning Holder

M S K NR 25 25-M 12

1 2 3 4 5 6
Clamping Method Clearance Angle Height of
of Ingeri Insert Shape  Holder Style of Insert Hand Shank

7 8 )

Width of Length of
Shank Holder

Length of Insert
Cutting Edge

o Clamping Method of Insert

9 Insert Shape

Effﬁﬁf

d hol andho!eclam in d hole cl
Top clamping without hole (Mul (ggrnp nn%ca?drrglr%p [Mul clamp pin and gaagm] Hole clamping{Pin lock]  Screw on mﬂﬁ? EIIamp Eﬁc ;mgr%m
C D M B S ‘W

e Holder Style
@

e s
= O A

s T
. 35" N
&
AT W

= -,‘QD° a ‘\_ F‘ 75
90° 936
o Clearance Angle of Insert
N} .
F G J K \ | |\ L
. . ’ S8 A7 18T L op
45 B0 725 - B85
4 3 N R B ¢ D E
H \ |
A\ 257 J-0F _P’._ 11
S 57 % ¥ F N P
Hand Height of Shank Width of Shank
(5 R (25250 (6 IBB- (7 3.
& vz e .
W an AN -
L N R — W

0 ©

Length of Insert Cutting Edge

L) AV @ [

[

A-32 H-100 Q
B-40 J-110 R-200
C-50 K-125 S-250 .
- D-60 L-140 T-a300 [Copecal
E-70 M-150 U-3s0  em
F-80 N-160 V-400
G-90 P-170 W-450

® ® @

1 A &

el



User
Rectangle


i External Turning Holder

MCFNR/L1616H12

2020K12 | 20 | 20 |125]| 32 | 20 | 25 PL25
2525M12 | 25 | 25 | 150] 32 | 25 | 32 CNLI1204000|CTM617| SC1204 PL30 ML625 | HL1814

3232P12 | 32 | 32 |170| 32 | 32 | 40
3232P19 | 32 | 32 |170| 37 | 32 | 40 |cnOO190s000|CTM1022| SC1904| PL40 | ML830 | HL2217

H MCLNE! ﬂ

MCLNR/L1616H12 | 16 16 |100| 32 16 | 20

e o
2020K12 | 20 | 20 |125| 32 | 20 | 25 PLZ5 ® o
2525M12 | 25 25 | 150| 32 | 25 | 32 CN..1204.. CTM617| SC1204 PL30 ML625 | HL1814 - —
3232P12 | 32 | 32 |170| 32 | 32 | 40 e o
2525M16 | 25 | 25 | 150 | 37 | 25 | 32 PL30 e O
3232P16 | 32 | 32 |170| 37 | 32 | 40 CN..1606.. CTM822| SC1604 PL40 ML830 | HL2217 5
3232P19 | 32 | 32 |170| 37 | 32 | 40 e O
4040R19 | 40 | 40 | 200! 38 | 40 | 50 CN..1906.. |CTM1022| SC1904| PL40 | ML830 HL2217 S

f

=~
o

L:!_'.

®E MCBN q

MCBNR/L2020K12 | 20 | 20 [125| 32 | 20 | 17

e
2525M12 | 25 | 25 |150| 32 | 25 | 22 | CN..1204.. |CTM617| SC1204 Etgg ML625 |HL1814 | e | ®
3232P12 | 32 | 32 |170| 32 | 32 | 27 ° |
2525M16 | 25 | 25 | 150 | 37 | 25 | 22 PL30 o |
3232P16 | 32 | 32 |170| 37 | 32 | 27 CN..1606.. |CTM822| SC1604 PL40 ML830 | HL2217| |
3232P19 | 32 | 32 |170| 37 | 32 | 27 | CN..1906.. |CTM1022| SC1904| PL40 | ML830 | HL2217 | ®

® MCGN

MCGNR/L1616H12
2020K12
2525M12
3232P12

CN..1204.. |CTM617| SC1204 ML625 | HL1814



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


=7 External Turning Holder

I - SN
d

MCKNR/L1616H12 | 16 16 | 100| 32 | 16 | 20 o|e
2020K12 | 20 | 20 |125] 32 | 20 | 25 PL25 oo
ooy | oo 201251 8211 20 125 | ON..1204.. [CTM617| SC1204| Fioo | MLG25 |HL1814 (ot
3232P12 | 32 | 32 |170| 32 | 32 | 40 o .
2525M16 | 25 | 25 | 150| 37 | 25 | 32 PL30 oo
3232P16 | 32 | 32 |170| 37 | 82 | 40 | CN--1606.. [CTM822) SC1604| ") | ML83O |\, 0047160
3232P19 | 32 | 32 |170] 37 | 32 | 50 | CN..1906.. |CTM1022| SC1904| PL40 | ML830 oo

m MCSN

MCSNR/L1616H12 ' 32 |

e .
2020K12 | 20 | 20 |125| 32 | 20 | 25 PL25 oo
2525M12 | 25 | 25 | 150| 32 | 25 | 32 | CN--1204.. |CTMB17) SC1204| o 0 | MLB25 | HL1814 | 1
L

3232P12 | 32 | 32 |170| 32 | 32 | 40

® MCMNN-80 q
50°

MCMNN1616H12-80 | 16 | 16 100 35| 16 | 8 5
2020K12-80 | 20 | 20 | 125 35 | 20 | 10 PL25 .
26261280 | 25 | 25 150 88 | o5 125 CM.1204.. (GTMELZ| SCARDH o on | MLBES | HLABY S
3232P12-80 | 32 | 32 |170| 38 | 32 | 16 .
2525M16-80 | 25 | 25 | 150 43 25 |12.5 PL30 o
3232P16-80 | 32 | 32 | 170| 43 | 32 | 16 CN..1606.. |CTM822) SC1804 b 45 | MIB30 | 1y 0017 (R
3232P19-80 | 32 32 170 45 32 16 | CN..1906.. |CTM1022| SC1904| PL40 | ML830 .



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


External Turning Holder

MCMNN-100

ol

MCMNN1616H12-100 .
2020K12-100 | 20 | 20 125 35 | 20 | 10 PL25 .
T S EWI \ON..1204... |CTMB17|:5C1204| 1= | ML62E: | HL:1874 e
3232P12-100 | 32 | 32 |170| 38 | 32 | 16 :
2525M16-100 | 25 | 25 | 150 43 25 12.5 PL30 %
3232P16-100 | 32 | 32 |i70| 43| 82 | 16 | CN-1606.. |CTMB22| SC1604) [, | MLB30 |\ 00170
3232P19-100 | 32 | 32 | 170 45 | 32 | 16 | CN..1906..|CTM1022| SC1904] PL40 | ML830 .

HE MDPNN 27.5°

e i
ey N |
1

MDPNN1616H11

100

31.5

16

E PL20
2020K11 | 20 | 20 | 125 33 | 20 ‘ 10 | DN..1104.. |CTM513|SD1108| "0
2525M11 | 25 | 25 | 150 33 | 25 |12.5
1616H15 | 32 | 32 [170|31.5| 32 | 8
2020K15 | 25 25 150| 39 25 10 | DN..1504.. CTMe1g| SD1506| PL25
2525M15 | 32 | 32 | 170| 40 | 32 |12.5| DN..1506.. SD1504, PL30
3232P15 | 32 | 32 | 170 42 32 | 16

ML625

HL2114

HL2114

MDJNR/L1616H11 PL20
2020K11 20 | 20 |125| 33 | 20 | 25 | DN..1104.. |CTM513| SD1103 PL30
2525M11 | 25 | 25 | 150| 33 | 25 | 32
1616H15 32 | 32 |170|31.5| 32 | 20
2020K15 25 | 25 |150| 39 | 25 | 25 | DN..1504.. CTM619 SD1506| PL25
2525M15 | 32 | 32 |170| 40 | 32 | 32 | DN..1506.. SD1504| PL30
3232P15 32 | 32 |170| 42 | 32 | 40

MLB25

HL2114

HL2114



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


External Turning Holder

® MDQON

MDQNR/L1616H11

16 | 16 |100(31.5| 16 | 20 PL20 e e

2020K11 20 | 20 |125 33 | 20 | 25 | DN..1104.. |CTM513|5D1103 sHEe
PL30 HL2114
2525M11 | 25 | 25 |150| 33 | 25 | 32 e o
1616H15 32 | 32 |1?0 31.5| 32 | 20 ML625 e @
2020K15 25 | 25 |150| 39 | 25 | 25 | DN..1504.. SD1506| PL25 ® o
2525M15 | 32 | 32 |170 40 | 32 | 32 | DN..1506.. a1 SD1504| PL30 HLET S L
3232P15 32 | 32 |170] 42 | 32 | 40 " @
H MSBN

MSBNR/L1616H12

ol

S
e |

L
2020K12 | 20 | 20 |125| 32 | 20 | 17 PL25 . e
2525M12 | 25 | 25 | 150| 32 | 25 | 2o | SN-1204.. [CTME17|MS1204| [ o0 | MLE25 | HL1814 [ 0
3232P12 | 32 | 32 [170| 32 | 32 | 27 ° o
3232P19 | 32 32 (170 37 | 32 | 27 o o
20s0r19 | 40 | 20 |200| 40 | 40 | 35 | SN--1906.. |CTM1022|MS1904| PL40 | ML830 |HL2217 |,

® MSDNN Pl i

MSDNN1616H12 ole
:g:gmzz gg gg 123 gg gg 112(_)5 SN..1204.. |CTM617| MS1204 ﬁ::gg ML625 HL1814 [ | "
3232P12 | 32 | 32 |170| 35 | 32 | 16 ol
s gg :252 128 ig gg 11265 SN..1506.. | CTM822 MS1504 E_:j; ML830 | HL2217 | | °
iﬁig;:: zg 2‘3 ;gg :g 23 ;g SN..1906.. | CTM1022|MS1904| PL40 | ML830 HL2217|_ |~

B MSKN

MSKNR/L1616H12

e
2020K12 20 | 20 |125| 35 | 20 | 25 PL25 |0
2526M12 | 25 | 25 | 150 35 | 25 | 32 SN..1204.. [CTMB17|MS1204 PL30 ML625 | HL1814 ~5
3232P12 32 | 82 |170| 35 | 32 | 40 L
2525M15 | 25 | 25 (150 40 | 25 | 32 PL30 o|o
3232P15 32 | 32 | 170| 40 | 32 | 40 SN..1506.. [CTM822|MS1504 PL40 MLB830 | HL2217 sl
3232P19 32 | 32 (170| 40 | 32 | 40 0|0
4040R19 40 | 40 | 200! 40 | 40 | 50 SN..1906.. |CTM1022| MS1904| PL40 | ML830 | HL2217 Tl



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


External Turning Holder

MSRNR/L1616H12

E MSRN

35

20

MSSNR/L1616H12

16 | 16 | 100 16 oo
igggmzz gg gg |1§§ gg gg gg SN..1204.. [CTM617|MS1204 itgg ML625 |HL1814| 5 | o
3232P12 | 32 | 32 |170| 35 | 32 | 40 o|e
LU if’,g 40 | o5 | 42| SN..1506.. [CTM822|MS1504| © 00 | ML830 | HL2217 | f o
jﬁ::;,’lg S i;;g 4o | 45| 2 | SN..1906.. |CTM1022|MS1904| PL4O | ML830 | HL2217| |

m MSSN

WTJNR/L1616H16

2020K16
2525M16
3232P16

16 | 16 | 100| 35 | 16 | 20 oo
ggggmzz :g gg |}§g - gg gg SN..1204.. |CTM617| MS1204 Etgg ML625 | HL1814| S | o
3232P12 | 32 | 32 |170| 35 | 32 | 40 ol
L e i}?g 2o a5 52 | sN..1506.. | CTMB22| MS1504 ﬁtig ML830 | HL2217 | |
iﬁiﬁ:}g S B i;gg o | 32 | a9 | SN..1906.. |CTMI022| MS1904| PL40 | ML83O | HL2217| | °

B WTJN

MTJNR/L1616H16

® MTJN

16 100 30 20
2020K16 20 | 20 |125| 28 | 20 | 25 PL20
2525M16 | 25 25 | 150 30 | 25 | 32 TN..1604.. |CTM513| ST1603 PL30 ML625 | HL1814
3232P16 32 | 32 |[170| 30 | 32 | 40
2525M22 | 25 25 |150| 36 # 25 | 32 PL25
3232P22 32 | 32 |170| 36 | 32 | 40 | TN..2204.. |CTM617| ST2204 PL40 ML830 | HL1917
4040R22 40 | 40 |200| 40 | 32 | 50

00 oC e e e @)



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


O External Turning Holder

B WTQN

D om—

o5
L

WTQNR/L2020K16 L2.5 |
2525M16 | 25 | 25 |150| 32 | 25 | 32 | TN..1604.. [CT515-T| ST1603 L4-0 ‘M5x23 HLT-16| e | ®
3232P16 32 | 32 |[170| 32 | 32 | 40 T

" MTQN

MTQNR/L1616H16 16 | 16 |100| 30 | 16 | 20

° o
2020K16 200|200 28 =28 "200| 25 PL20 * |0
2525M16 | 25 | 25 | 150| 30 | 25 | 32 TN..1604.. |CTM513| ST1603 PL30 MLB25 HL1814 % |-e
3232P16 32 | 32 |170| 30 | 32 | 40 e o
2525M22 | 25 | 25 (150| 36 | 25 | 32 PL25 clo
3232P22 32 | 32 1170 38 | 32 | 40 TN..2204.. | CTM617| ST2204 PLAO ML830 HL1917 i

® MTFN

MTFNR/L1616H16 16 | 16 00 30 | 16 20

e
2020K16 20 | 20 |125| 28 | 20 | 25 PL20 (N
2525M16 | 25 | 25 150 30 | 25 32 TN..1604.. |CTM513| ST1603 PL30 ML625 HL1814 e |'a
3232P16 32 | 32 |[170| 30 | 32 | 40 LN
2525M22 | 25 | 25 150| 36 | 25 | 32 PL25 ol o
3232P22 32 | 32 1170 36 | 32 | 40 TN..2204.. |CTM617| ST2204 PL4O ML830 HL1917 =l

® MTGN

MTGNR/L1616H16 | 16 | 16 | 100| 30 | 16 | 20

[ ]
2020K16 20 | 20)) 125 28 | 20| 25 PL20 ®| e
2525M16 | 25 | 25 150 30 | 25 | 32 TN..1604.. |CTM513| ST1603 PL30 MLE25 HL1814 I
3232P16 32 | 32 |170| 30 | 32 | 40 L
2525M22 | 25 | 25 (150| 36 | 25 | 32 PL25 o|o
3232p22 32 | 32 170! 36 | 32 | 40 TN..2204.. | CTM617| ST2204 PL40 ML830 HL1917 il



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


O External Turning Holder

H MTBN

MTBNR/L1616H16
2020K16
2525M16

CTM513| ST1603

20 |15.5| TN..1604..

B WTBN

WTBENR/L1616H16 16 | 16 | 100|31.5| 16 |15.5

LI
2020K16 | 20 | 20 |125| 33 | 20 |15.5 PL20 o=
2525M16 | 25 | 25 | 150| 33 | 25 |20.5| TN--1604.. |CTMS15-T| ST1603| o o | MLE25 HLT-16) S o

L

3232P16 ' 32 | 32 |170| 383 | 32 |27.5

® MTENN

MTENN1616H16

e
2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 |
2525M16 | 25 | 25 150 30 | 25 32 TN..1604.. |CTM513| ST1603 PL30 MLB25 | HL1814 ol ®
3232P16 32 | 32 |[170| 30 | 32 | 40 |
2525M22 | 25 | 25 [150| 36 | 25 | 32 FL25 0|0
3232P22 32 | 32 170! 36 | 32 | 40 TN..2204.. |CTM617| ST2204 PL40 ML830 | HL1917 S

B WTEN

WTENN2020K16
2525M16
3232P16

125
L4.0



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


I External Turning Holder

® MVJN

MVJNR/L1616H16 16 | 16 |100| 30 | 16 | 20

o
2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 °|e
2525M16 | 25 | 25 | 150| 30 | 25 | 32 VN..1604.. |CTM513| SV1603 PL30 MLB25 | HL2414 sl s

|

3232P16 32 | 32 [170| 30 | 32 | 40

= MVQON

MVQNR/L1616H16 16 | 16 | 100| 30 | 16 | 20

°| e
2020K16 20| 20 |[125) 28 | 20 | 25 PL20 ° e
2525M16 | 25 | 25 | 150| 30 | 25 | 32 VN..1604.. |[CTM513| SV1603 PL30 ML625 | HL2414 =
°| e

3232P16 | 32 | 32 [170| 30 | 32 | 40 |

®E MVUN

MVUNR/L2020K16 | 20 | 20 |125| 28 | 20 | 25 i e e

2526M16 | 25 | 25 |150| 30 | 25 | 32 | VN..1604.. [cTM513| SV1603 Etig ML6E25 | HL2414 | e | ®
3232P16 | 32 | 32 170 30 | 32 | 40 % %
T ”
7250

MVVNN1616H16
2020K16
2525M16
3232P16

ML625 | HL2414

VN..1604.. [CTM513| SV1603



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


External Turning Holder

" WWLN

WWLNR/L1616H08
2020K08
2525M08
3232P08

WN..0804.. |CT618-W| SWO0804

o
=
o). [ - J

= MWLN

MWLNR/L1616H06
2020K06
2525M06
1616H08
2020K08
2525M08
3232P08

16
20
25
16
20
25
32

16
20
25
16
20
25
32

100

125
150
100
125
150
170

16

20
25
16
20
25
32

20
25
32
20
25
32
40

95¢

L ] [ ]

WN..0604.. |CTM513| swosoa| ©-20 HLig14|® | ®
PL30 °l

ML 625 o|e

PL25 o e

WN..0804.. |CTM617| SW0804| © >0 HL1814 [ o |2
[ ] [ ]



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


B /NAZETIF External Turning Holder

m SCLC

SCLCR/L0808F06 o | o
1010H06 | 10 | 10 | 100 | 12 | 10 | 12 | CC-0802. T8 Sl
1212H09 | 12 | 12 | 100 | 18 | 12 | 16 e | o
1616H09 | 16 | 16 | 100 | 18 | 16 | 20 o | o
2020609 | 20 | 20 | 125 | 20 | 20 | 25 | CC-09T3. TE | Mex10 T T e
2525M09 | 25 | 25 | 150 | 24 | 25 | 32 il
2020K12 | 20 | 20 | 125 | 23 | 20 | 25 o o
2525M12 | 25 | 25 | 150 | 26 | 25 | 32 | CC.1204.. T20 | M5x12 | o | ®
3232P12 | 32 | 32 | 170 | 28 | 32 | 40 o o

® SCKC

SCKCR/L1212H09

@ L ] i
1616H09 | 16 | 16 | 100 | 20 | 16 | 20 anlme
202009 = 20 | 20 | 125 | 23 20 | 25 | CC-09T3. Ti5 | Max10 o,
2525M09 | 25 | 25 | 150 | 23 | 25 | 32 au|e
2020K12 | 20 | 20 | 125 | 23 | 20 | 25 w | W
2525M12 | 25 | 25 | 150 | 25 | 25 | 32 | ©C-1204. T20 | MSX12 e

m SCFC

91°

.

SCFCR/L1212H06 CC..0602..
1616H09 | 16 | 16 | 100 | 20 | 16 | 20
2020K09 | 20 | 20 | 125 | 20 | 20 | 25 | CC-09T3. b | s
2525M12 | 25 | 25 | 150 | 25 | 25 | 32
3232P12 | 32 | 32 | 170 | 25 | 32 | 40

CC..1204.. T20 M5x12

m SCMCN

FHEM50°

SCMCN1010H06 10 10 100 13 10 CC..602.. T8 M2.5x7

B ® °
1212H09 12 12 | 100 | 18 12 6 e | o
1616H09 16 16 | 100 | 18 16 8 o | o
2020K09 20 20 | 125 | 18 20 10 GG BATS.. T15 MAx10 i
2525M09 | 25 25 | 150 | 18 25 | 12.5 o | o
2020K12 20 20 | 125 | 23 20 20 o | o
2525M12 | 25 25 | 150 | 23 o5 | 425 | wo-1804. 120 Mate e | @



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


] External Turning Holder

® SCMCN-100

E A
o

FHmA40

SCMCN1010H06-100 | 10 10 | 100 @ 13 10

5 CC..0602.. T8 M2.5x7 | e | ®
1212H09-100 | 12 | 12 | 100 | 18 12 6 o | o
1616H09-100 16 16 100 18 16 8 L e
2020k09-100 | 20 | 20 | 125 | 18 | 20 | 1o | CC-09T3. 1 TS L Maxi0
2525M09-100| 25 = 25 | 150 | 18 | 25 | 12.5 o | o
2020K12-100 | 20 20 | 125 | 23 20 20 e | o
2525M12-100| 25 | 25 | 150 | 23 | 25 | 12.5 | CC-1204. B | MAEie T |

m SCBC

SCBCR/L2020K09 | 20 | 20 | 125 | 12 | 20 | 17

L ] L]
2525M09 | 25 | 25 | 150 | 12 | 25 | @2 | CC-09T3. TIS | MAx10
2020K12 | 20 @ 20 | 125 | 16 | 20 | 17 ' |
2525M12 | 25 | 25 | 150 | 16 | 25 | 22 | CC-1204. T20 | MSx12 ey

u SCAC

SCACR/LOB08KO6 | 8 | 8 | 125 10 | 8 8

L] L
1010k06 | 10 | 10 | 125 | 10 | 10 | 10 | ©C--0606. T8 | M25x7 | |
1212K09 | 12 | 12 | 125 | 13 | 12 | 12 o=
1616K09 16 16 125 | 13 16 16 CC..09T3.. T15 M4 x10 % =

m SDJC

. r__‘
- a|
. ;
o e . |
; S

~ SDJCR/L1010H07

L ] L ]
1212H07 | 12 | 12 | 100 | 14 | 12 | 16 | DC..0702.. T8 M2.5x7 [ e | e
1616H07 16 | 16 | 100 @ 14 | 16 | 20 s | @
1212H11 12 | 12 | 100 | 20 | 12 | 16 =Sl I
1616H11 16 | 16 | 100 20 | 16 | 20 o | o
2020K11 20 | 20 | 125 | 20 | 20 | 25 &l|ve
2525M11 | 25 | 25 | 150 22 | 25 | 32 | PC-11T3. TS | Méx10 B g
3232P11 32 | 32 | 170 | 23 | 32 | 40 o
4040R11 40 | 40 | 200 25 | 40 | 50 o



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


= External Turning Holder

!L y T — IJ

SDACR/L0808HO7 8 8 100 15 8 8
1010H07 10 10 100 15 10 10 DC..0702.. T8 M2.5x7
1212H07 12 12 100 15 12 12
1212H11 12 12 100 22 12 12
1616H11 16 16 100 22 16 16
2020K11 20 20 125 22 20 20
2525M11 25 25 150 22 25 25

DG .11 T3 T8 M4 x10

SDFCR/L1212H07 DC..0702.. .
1616H11 | 16 | 16 | 100 | 14 | 16 | 20 SR
2020K11 | 20 | 20 | 125 | 14 | 20 | 25 | PC-11T3. TI5 | Max10 [T 7

SDQCR/L1010H07 10 10 100 13 10 | 12

. ] L] L]
1212H07 | 12 | 12 | 100 | 13 | 12 | 18 | DC-0702. T8 M2.5x7 | g | o
1212H11 | 12 | 12 | 100 | 14 | 12 | 16 o | e
1616H11 = 16 | 16 | 100 | 14 | 16 | 20 S
2020611 | 20 | 20 | 125 | 16 | 20 | 25 | DC-11T3. TI8 | MAxAD T
2525M11 | 25 | 25 | 150 | 20 | 25 | a2 i e

B SDNCN q

SDNCN1010H07 = 10 | 10 | 100 | 14 | 10

5 ° *
1212H07 | 12 | 12 | 100 | 14 | 12 | & i e M2.5x7 | o | o
1212H11 | 12 | 12 | 100 | 21 | 12 | 6 o | o
1616H11 | 16 | 16 | 100 | 21 | 16 | 8 DC..11T3.. TI5 | M4x10 | ® |
2020611 | 20 | 20 | 125 | 21 | 20 | 10 o | o



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


External Turning Holder

m SSBC

SSBCR/L1212H09
1616H09
2020K09
2525M09
2020K12

100

100
125
150
125

78°

SC..09T3..

T15

M4 x10

SC..1204..

T20

M5x12

SSKCR/L1616H09
2020K09

25

20

25

SC..09T3..

m SSSC

SSSCR/L1616H09

145°

SC..09T3..

M4 %10

2020K09 | 16 | 16 | 125 | 18 | 20 | 25 o | o
2525M12 | 25 | 25 | 150 | 25 | 25 | 32 | SC..1204.. T20 | M5x12 | e | e
B SSDCN
45°

SSDCN1212H09
1616H09
2020K09



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


External Turning Holder

m STFC

STFCR/L1010H09 | 10 = 10 NPT TC..0902.. £ &
1212H11 | 12 | 12 | 100 | 16 | 12 | 16 o |
1616H11 | 16 | 16 | 100 | 16 | 16 | 16 | 'c-1102. ¥ | Meaxd Ty | e
1616H16 | 16 | 16 | 100 | 16 | 16 | 20 o | o
2020K16 | 20 | 20 | 125 | 22 | 20 | 25 | TC.16TS.. T15 | M4x10 | o | e
2525M16 | 25 | 25 | 150 | 22 | 25 | 32 %

B STGC

A
STGCR/L0808H09 : o | o
1010H09 10 | 10 | 100 | 12 | 10 | 12 T T8 M2.2x6 | o | ¢
1212H11 12 | 12 | 100 | 16 | 12 | 16 . | o
1616H11 16 | 16 | 100 | 20 | 12 | 20 | TC-1102. = M2.5x7 s
2020K16 | 20 | 20 | 125 | 22 | 20 | 25 o | o
2526M16 | 25 | 25 | 150 | 22 | 20 | 32 | TC..16T3.. T15 | Mdxi0 [e e
3232P16 | 32 | 32 | 170 | 22 | 25 | 40 o | o

B STWC

STWCR/L1212H11

12

12

12 100 15.3 . | @
1616H11 16 | 16 | 100 16 | 19.3 s
2020K11 | 20 | 20 | 125 20 | 28m | TOLIOR. LENE. . A
2525M11 | 25 | 25 | 150 | 8 25 | 28.3 o | o
1616H16 16 | 16 | 100 | 12 | 16 | 21 .
2020616 | 20 | 20 | 125 | 12 | 20 | 26 G
2525M16 25 25 | 150 | 12 25 31 il - Mdx10 P | @
3232P16 32 | 32 | 170 | 12 | 32 | 38 T



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


] External Turning Holder

m SVJB(C)R/L

SVJ-R/L1616H16 16 | 16| 100| 82 | 16 | 20

® [ ]
2020K16 20| 20| 125/ 32| 20| 25 | vC..1604.. o | o
2525M16 25| 25| 150 32 25 | 32 | VB..1604.. Tia | Max10 ST
3232P16 32| 32 170 40 | 32 | 40 o | o

® SVVB(C)N

SVV-N1616H11 16 | 16 | 100 | 24 | 16 | 8

[ ] L ]
2020K11 20 | 20 | 125 | 24 | 20 | 40 | VE-1103- T8 | M25x7 | e | @
2525M11 25 25 150 24 25 12.5 N " e | o
1616H16 16 | 16 | 100 | 34 | 16 | 8 o | e
2020K16 20 20 125 34 20 10 VC..1604.. T15 Maxdo % | *
2525M16 25 | 25 | 150 | 34 | 25 | 125 | VB..1604.. Gine
3232P16 32 | 32 [ 170 | 34 | 32 | 16 o e

B SVQAB(C)R/L

F 4

SVQ-R/L1616H16 16 16 100 35 16 20
2020K16 20 20 125 35 20 25 VC..1604..
2525M16 25 25 150 35 25 32 VB..1604..
3232P16 32 32 170 35 32 40

T15 M4 x10

m SVUB(C)R/L ﬂ

SVU-R/L1616H11 16 16 100 12 16 20 VC..1103..
2020K11 16 16 125 16 186 25 VB..1103..
2525M16 25 25 150 16 25 32 VC..1604..
3232P16 32 32 170 16 32 40 VB..1604..

T8 M2.5x7

T15 M4 x10



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


= External Turning Holder

B SRACR/L . ﬂzﬁ ;
1
4 : r

ol

SRACR/L1616H08
2020K08 20 20 125 16 20 20.5 RC..0803.. T8 M3 x 8
2525M08 25 25 150 16 25 25.5
2020K10 20 20 125 | 20.3 25 20.4
2525M10 25 25 150 | 20.3 25 25.4

RC..10T3.. T8 M4 x10

e & & 0 @
e @ & 0 @

L1

e

B SRGCR/L

SRGCR/L1212H05 12 12 100 95 12 16

[ ] [ ]
1616H05 16 | 16 | 100 | 95 | 16 | 20 RC..0502.. T6 M2.2x6 | o | ®
2020K05 20 | 20 | 125 | 112 | 20 | 25 o | o
2525M05 | 25 | 25 | 150 | 147 | 25 | 32 o | o
1212H06 12 | 12 | 100 | 10 | 12 | 16 . | ®
1616H06 16 | 16 | 100 | 10 | 16 | 20 o« | o
2020K06 20 | 20 | 125 | 12 | 20 | 25 RO.0602.. Ll M25%6 Ta | e
2525M06 | 25 | 25 | 150 | 15 | 25 | 32 o« |
1616H08 16 | 16 | 100 | 11 | 16 | 20 o | o
2020K08 20 | 20 | 125 | 127 | 20 | 25 | RC..0803.. T8 M3x8 | o | o
2525M08 | 25 | 25 | 150 | 162 | 25 | 32 o | o
1616H10 16 | 16 | 100 | 11 | 16 | 20 o | o
2020K10 20 | 20 | 125 | 127 | 20 | 25 | RC.10T3.. T8 M4x10 | o | ®
2525M10 | 25 | 25 | 150 | 162 | 25 | 32 o | o

B SRDCN

= -omm—
|

SRDCN1616H08 18 | 18 | 100 | 48 | 18 8

. .
2020K08 20 20 125 16 20 10 RC..0803.. 8 M3 x 8 . °
2525M08 25 25 150 16 25 12.5 ® °
1010H10 10 10 100 | 20.3 10 5 L e
1616H10 16 16 100 | 20.3 16 8 ° L
2020K10 20 20 125 | 20.3 20 10 RC..10T3.. T15 M4 x10 ® °
2525M10 25 25 150 | 20.3 25 12.5 ° °
3232P10 32 32 170 | 20.3 32 16 ® ®



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


Definition For Internal Turning Holder

S 12 M-S T F P R-11

1 2 3 4 3 6 7 8 9
Type of Bar Bar Diameter BarLength omﬁ?ﬁng;n Insert Shape L%%c:ia:ggé:rof Hg:iila:';’\enr?le Hand of Bar Le”gf%géguﬁing
o Type of Bar 0 Bar Length o Method of Mounting Insert
“A” Steel with coolant hole
“E” Carbide bar with fixed length(L)  (mm) Ji
steel head and coolant hole H 100
“C” Carbide shank J 10 -
“g” Steel shank § P Top cIamplng Top and hole clamping
“X" Special type M 150
N 160
L 180
Bar Diameter 4
9 R 200
P s 250 Top and hole clamping Hole clamping
T 300 M P
U 350
g v 400 '
3 e w 450
v 500 Screw on
S
6 Insert Shape e Lead Angle of Boring Bar Relief Angle of Insert
- : -006EE0R- -UEEE-
o = %, -~
B 7 | cEeE | e
£ ' ; Sl
: I
L F 5°
' ! i
U K 7
= [ ¢ =
z o
e Hand of Bar
-50600- m—
1w

Length of Cutting Edge

9 Jetioti @

L] Lo/ 7



User
Rectangle


= Internal Turning Holder

m VICLN N ,
. . %
1 - = =k
95 A = L J
Bak EilE] R Fpimensions Tl kinsert 7138him | $#§IPin | &4 Clamp Stock
Orderingcode oD | ®d L L1 | H | «® @
S16Q-MCLNR/L12 22 | 16 | 180| 35 | 15 | 11  18° _—|CTM613| HL1511 | ML0520| L2.5
S20R-MCLNR/L12| 25 | 20 |200| 45 | 19 | 13 | 15° Lo5
$25S-MCLNR/L12| 32 | 25 |250| 45 | 25 |16.5 12° CTME13) HLIB1D| MLO620 | =
$32T-MCLNR/L12| 40 | 32 |300| 50 | 30 |22.5/ 17°| CN..1204..
S40T-MCLNR/L12 50 | 40 | 300| 55 | 38 | 26 | 15° MC1204| CTM617 | HL1814 | MLOG25 | 123

'S50U-MCLNR/L12| 60 | 50 |350| 55 | 48 | 31 | 12°
S40T-MCLNR/L16| 50 | 40 | 300| 60 | 38 | 26 | 15°
$50U-MCLNR/L16 60 | 50 |350| 60 | 48 | 31 | 12° | CN..1606.. [MC1604 CTM822 HL2217 | ML0830 |L3.0/L4.0
$60V-MCLNR/L16 70 | 60 |400| 60 | 58 | 36 | 10°

® ® 9 0 09 ° 0 9 0| T
e ® 8 00 e 0 0 0 0

S50U-MCLNR/L19| 60 | 50 | 350| 70 | 48 | 31 | 12°

S60V-MCLNR/L19 70 | 60 | 400| 70 | 58 | 36 | 10° CN..1906.. |MC1904|CTM1022| HL2217 | ML0830 |L3.0/L.4.0

® MCKN
V- -
J = L |
o
TRREE R ~}pimensions 71K Insert 713Shim | $4§TPin E’ﬁ&amp
Orderingoode ob|od| L |Li|[H | f]a 0 [O; § (7]
S20R-MCKNR/L12| 26 | 20 |200| 45 | 19 14 | 15° L2.5

CTMB13| HL1810 MLOB20 | 3'q

e e
$255-MCKNR/L12| 32 | 25 |250| 45 | 24 |16.5 12 CN. 1204 . : :
e e

$32T-MCKNR/L12 40 | 32 |300| 50 | 30 22.5 17°
S40T-MCKNR/L12 | 50 | 40 |300| 55 | 38 | 26 | 15° MC1204| CTM617| HL1814 | MLO625 | 55
S50U-MCKNR/L12| 60 | 50 | 350| 70 | 48 35 | 12° :

® MCWN = B
-
. w7 N i

i
e —

“\

TRMe R ~Fpimensions 71K insert J1%Shim | $§€TPIn E*ﬁmp 184 Screw #ﬁ%yreﬂnm Stock
Oderingeads | opod| L [ L1 | £ | & 0 [0 & (7] R|L
S20R-MCWNR/L12| 30 | 20 |200| 45 | 19 | 17 | 15° 125 || e
$255-MCWNR/L12| 35 | 25 |250| 45 | 24 19.5/ 12| . . CTME3) HL1S10) MO0 | o' e
$32T-MCWNR/L12| 42 | 32 [300| 50 | 30 23.5 17° T L25 |® |
S40T-MCWNR/L12| 50 | 40 |300| 55 | 38 | 27 | 15° e painitet | HGEMIERERS) 26 IR

MTJN @  Amm— WTUN @f @3 g of—
R CR— s e —

TR FaiDimansions 71 Frinsert 718Shim | #$TPin Etﬂmu EFWrench| gio0k

oreringeose [ op|od| L [L1[H [ ]|« -4 § (7 R|L
g EA R O N g Cm e e N A R
S40U-MTJNR/L1G | 50 | 40 |360| 55 | a8 | 27 | 16° MT1603 | CTMs13) HLtat4 wLoses| (58 | 1) 0
S255-WTUNR/L16 | 32 | 25 [250] 36 | 23 [ 17 [ 12° ° o
Bt ORI TE a |t ot o o e NS |y e T8 Wi | (O
S50W-WTUNR/L16| 55 | 50 | 450 | 66 | 48 [29.5| 15° e |0



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


E Internal Turning Holder

® MTFN

*ﬂ;
¢  SESwommmmmmm
_-r_:_'_i"__ — "‘ L |
- =

TmEe R ~FDimensions 71 K Insert JI¥Shim | $%$TPin |FE#E Clamp| &£ Screw |15 Wrench Stock

Orderingcode oD @d] L | L1lH f [ a® v R ] L
S16Q-MTFNR/L16 22 | 16 | 180 35 15 | 11 | 18° 25 |o e
S20R-MTFNR/L16 | 25 | 20 (200 40 | 19 | 13 |15 _ peAmR Rl A 3.0 |e]e
$25S-MTFNR/L16 | 31 | 25 250 45 24 [16.5| 12° PR i Lel®
S32T-MTFNR/L16 | 41 | 32 | 300| 54 | 30 |22.5| 17° MT1603 | CTM513| HL1814 | ML0B25 | |50 | @ | ®
S40T-MTFNR/L16 | 50 | 40 | 300 60 | 38 |26.5| 15°

" MTWN

- m
@ - b
ol
o | ——

TRae F =t bimensions 71 Frinsert J18shim | $HETPIn E{s{ig;lmp Stock
Orderingcode oD| ®d| L L1 |H | f o? V ﬁ @ R|IL
S20R-MTWNR/L16| 27 | 20 [200| 40 | 19 | 14 | 15° e | e
$25S-MTWNR/L16| 32 | 25 | 250 45 | 24 |16.5| 12°| TN..1604.. i S ol
$32T-MTWNR/L16| 39 | 32 |300 54 30 | 20 | 17° MT1603 | CTM513 | HL1814 o | o
® MTUN o @ Suims:| ¥ MTLN
la: ! ! +4|,-_w-l ) | ] 2
e
| o P o A
TREe 2 5FDimensions 1K Insert J1%Shim | $H%TPin | E4R Clamp Hécrew $F Wrench: Stock
Orderingcode ob| od| L | L1 |H f o v @ Ll L
$16Q-MTUNR/L16 22 | 16 [180] 35 [ 15 | 11 [ 18° | e | e
S20R-MTUNR/L16 | 25 | 20 |200| 40 | 19 [13.5] 15° CTM511| HLIB10 MLO620 |55 | e [
$255-MTUNR/L16 31 | 25 1250| 45 | 24 | 17 | 12°| _ 0. | ' o
$32T-MTUNR/L16 41 | 32 [300| 54 | 30 |22.5/17° | - " o | e
S40T-MTUNR/L16 50 | 40 |300| 60 | 38 |26.5 15° 25 (e |e
- HL1814
S50U-MTUNR/L16 | 60 | 50 |350| 65 | 48 | 31 | 12° | NIE1903 CTHDHS MLOGZS | talo |imiliER
$60V-MTUNR/L16 70 | 60 |400| 70 | 58 | 36 | 10° | .| e
S40T-MTUNR/L22 50 | 40 |300| 60 | 38 |26.5| 15° | " o
S50U-MTUNR/L22 60 | 50 |350| 65 | 48 | 31 12°| TN..2204.. |MT2204 CTM617| HL1917 | MLO830 |_4'g ol e
$60V-MTUNR/L22 70 | 60 |400| 70 | 58 | 36 | 10° ' e
C20R-MTUNR/L16-25 | 25 | 20 [200| - | 13 | 13 [ 15° oo
C20S-MTUNR/L16-25 | 25 | 20 |250| - | 13 | 13 | 15°| 25 | e e
C25R-MTUNR/L16-32 | 32 | 25 (200 - | 24 | 17 | 12° CTMoI| HL1910 | BROG0| 8h (e | e
C25S-MTUNR/L16-32 | 32 | 25 (250| — | 24 | 17 |12°| TN..1604.. / B | e e
C32S-MTUNR/L16-40 | 40 | 32 |250| - |30 20 [ 17° ' oo
C40S-MTUNR/L16-50 | 50 | 40 |250| - | 38 | 26 | 15° | L2s |o|©
C50S-MTUNR/L16-60 | 60 | 50 |250| — | 48 | 31 | 12° MILTEES | CTMBIS | LTS MUOGES) 186 (o]
B MTLN®
$18Q-MTLNR/L16 22 | 18 |180| 36 | 17 |12.5) 15° ‘ ‘ MLO620| L2.0 | e | e
S20R-MTLNR/L16 25 | 20 |200| 37 | 19 [13.5] 15° CTM511 | HL1810 L30 el
S258-MTLNR/L16 30 | 25 |250| 45 | 23 | 17 12| TN.1604. | MLOB25 | 125 e |©
$32T-MTLNR/L16 40 | 32 |300]| 50 | 30 |22.5| 17° MT1603 CTM513 | HL1814 L3.0 |e |0
- PR Re—
‘:EBL f oy
al L "| L
Ewns e —
TipE e R ~FDimensions 71 B Insert J1EShim | $€TPin |E#E Clamp

Orderingeade | op|@d| L [L1[H [ f [ o V | A
S20R-MTQNR/L16 | 25 | 20 | 200 40 | 13 [13.5] 15°
$255-MTQNR/L16 | 31 | 25 |250 | 45 | 24 | 17 | 12°
S32T-MTQNR/L16 | 41 | 32 |300 54 | 30 [22.5| 17°
S40T-MTQNR/L16 | 50 | 40 | 300 60 | 38 [26.5] 15°

CTM511 | HL1810

TN..1604..
MT1603 | CTM513 | HL1814



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


Internal Turning Holder

B CaTEgm———
@ £
d = L |
i
75° L —————
TImEE R <Foimensions J']H'JL]SSI‘I J1%#Shim | $#$TPin |[E#R Clamp| 824 Screw | #F Wrench Stock
Orderingcode oD od| L [LI|[H | f|a -4 @ R[L
S20R-MSKNR/L12 32 | 20 200| 40 | 19 | 14 | 15° 125 || o
$25S-MSKNR/L12 | 32 | 25 | 250/ 45 | 24 |16.1] 12° CTMB13| HLISIO | MOGX | 30 \saes
S32T-MSKNR/L12 | 40 | 32 300| 50 | 30 | 22 | 17° SN..1204. I
S40T-MSKNR/L12 | 50 | 20 |300| 55 | 38 | 27 | 15° MS1204|CTM617| HL1814| MLOB25 | 123 | o | @
S50U-MSKNR/L12 | 60 | 50 |350| 65 | 48 | 30 | 12° 0 el
®E MDQN

107.5°
TiERE R Dimensions T Rinsert J']gif.i.him #4TPin #FWrench| gk
S255-MDQNR/L15 32 | 25 250| 45 | 24 | 17 | 12° CTM613 e |t
$32T-MDQNR/L15 | 40 | 32 |300| 50 | 30 [22.5/ 17° DN..1504.. 128 |ei|e

3.0

S40T-MDQNR/L15 | 50 | 40 |300| 60 | 38 | 27 | 15° MD1506| CTMe19] L2114 | MLoe25 o .

m VMIDUN
95°
< ¢ Finsert J1#Shim | #§$TPin [[E4R Clamp

j]ﬂgﬂ% ET."Dlrnensnons 7 =

Orderingoode ob|od| L |Li|H [ ]a Y- 4 4]
S25S-MDUNR/L15 32 | 25 250 45 | 24 | 16 | 12° CTMB13| HL2114 [MLOG20| | & | ®
S$32T-MDUNR/L15 | 40 | 32 |300| 50 | 30 | 21 | 17°| DN..1504.. 5 lele
S40T-MDUNR/L15 50 40 300 60 | 38 | 26 | 15° MD1506 | CTM619| HL2114 | MLOG25 | L3.0 | 1

2 MIDWN
5 : 71 Insert T1#hshim | #§$IPin | [E4 Clamp
J‘J;@,iﬂ!% RTJ'Dlmensmns
Orderingcode oD | ©od i I L1 |H f o® g @
S20R-MDWNR/L11| 28 | 20 |200| 36 | 19 | 16 | 15° | DN..1104.. CTM511| HL1810 | MLO620 | L2.01L3.0 | ® | o
$255-MDWNR/L15| 37 | 25 |250| 45 | 23 |22.5| 12° | DN..1504.. " ~ |CTMB13 L
$32T-MDWNR/L15 45 | 32 |300| 50 | 30 | 27 15°| pu 4g0g | MD1504 CTM617 | HL2114 | MLO625 ll:gg ° e
S40T-MDWNR/L15 53 | 40 |300| 55 | 38 | 31 | 15° " " MD1506 | CTM619 i |
H MDZN £
= ¢ sE=e=————
ol o L 2
6.
.
93
RS R ~}Dimensions T kinsert 71Eshim | #HETPIn ﬁﬁmp
Orderingcode oD lI)d| L L1 lH f I «® !a
S32T-MDZNR/L15 | 40 | 32 |300| 50 | 30 | 23 | 17° L2.5
S40T-MDZNR/L15 | 50| 40 |300| 55 | 38| 27 [i45e| DN-1504.. |MD1506| CTM619| HL2114 | MLOGZ5 | 575 | gifie



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


Internal Turning Holder

® MVQN

¢ U

b e .

- R e e
S255-MVQNR/L15 | 32 | 25 250 45 | 24 | 17 | 12° CTM511| HL2114 [MLOG25 |, [ @ | ®
$32T-MVQNR/L15 | 40 | 32 300 50 | 30 23 17°| VN_1604.. ol
L3.0

S40T-MVQNR/L15 | 50 | 40 300 60 | 38 15° MV1603 | CTM513| HL2114, | MLOG25 oo
BMVX(JIN

& L"ﬂ

e

=

S20R-MVXNR/L16 | 27 | 20 200 40 | 19 | 14 | 15° 20 | ®
S25S-MVXNR/L16 | 32 | 25 |250| 45 | 24 | 17 | 120 | . CTM511| HL1810 | MLOB20 | 15 liguins
$32T-MVXNR/L16 42 32 300 50 30 | 23 | 17° o 20 |® ®
S40T-MVXNR/L16 300 ag | 27 | 15° MV1603 | CTM513 | HL1814 | MLOB25 | '3y | o | o
® MVUN =

. D_ﬂ

e |

.

R M5 {"_
$255-MVUNR/L16 | 36 | 25 250 45 | 24 | 20 | 12° CTMS11| HL2114 [ MLOG5 | [ @ '»
$32T-MVUNR/L16 | 42 | 32 | 300 50 | 30 22 17°| VN..1604.. L2.0 ||
S40T-MVUNR/L16 | 50 | 40 300 55 | 38 15° MV1603 | CTM513| HL2114 | MLOB25 | L30Ty
" MVWNH!

WILET

S$25T-MVWNR/L16
S§32T-MVWNR/L16

‘ FiRm72.5

200 45 24
250 50 | 30

26
30

12°
17

| MWLNES
WiED

S16Q-MWLNR/L06

CTM511 | HL2114 | ML0820
e i MV1603 | CTM513 | HL2114 | ML0625
u WWLNE
MIEDN

Eﬁﬁgﬁ

CTM511

HL1511, ML0520 L2.0/.2.5 ® | ®
S20R-MWLNR/LO6 | 24 = 20 |200| 40 | 19 [13.0| 15° WN..0604.. / o0 e|e
$25S-MWLNR/LO6 | 32 | 25 |250| 45 | 23 |17.0| 12° /" |CTM511 HL1810 MLO620 5 |, |,
S16Q-MWLNR/L08 | 20 | 16 | 180 35 | 15 |11.0] 18° z ol
S20R-MWLNR/LO8 | 25 | 20 |200| 40 | 19 [13.0] 15° / CTMB13| HL1810 MLOB20 tgg oo
$25S-MWLNR/LO8 | 32 | 25 |250| 36 | 23 [17.0] 12° rd Y lele
$32T-MWLNR/LO8 = 40 32 |300| 50 | 30 |22.0| 17°| WN..0804.. oo
S40T-MWLNR/LO8 | 50 | 40 |300| 60 | 37 |27.0] 15° MW0804CTMB17 HL1814 | MLOG25 oo |@ | e
S50U-MWLNR/LO8 60 | 50 |350| 70 | 48 | 31 | 12° ) ® | O
S60V-MWLNR/L0O8 | 70 | 60 |400| 70 | 58 | 36 | 10° o]0
" WWLNE
S25S-WWLNR/L08 | 32 | 25 [250| 40 [ 23 [ 17 | 12° oo
S32T-WWLNR/LO8 40 | 32 [300| 50 | 30 | 22 17° | \wN 0804.. e Lele
S40U-WWLNR/LO8 | 45 | 40 [350| 60 | 38 | 27 | 15° T MWO0804/ CTMBT8W HLW-08 M5X23 |y | ® | ®
S50W-WWLNR/LO8 55 50 |450| 70 | 48 | 31 | 12° o0



User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle

User
Rectangle


Internal Turning Holder

W SCLC/SCLP/SJLCH!

S07K-SCLCR/L06

9

7

125

14

4.9 M2.5x5 T8 oo
S08K-SCLCR/LO6 | 10 | 8 S R T i i oo
S10K-SCLCR/LO6 | 12 | 10 | 6 | 125 | 14 | 9 | 13° | CC..0602.. MBS T8 ° e
$12M-SCLCR/LO6 | 16 | 12 | 9 | 150 | 25 | 11 | 10° ' oo
S16Q-SCLCR/LO6 | 20 | 16 | 11 | 180 | 32 15 | 8° oo
$12M-SCLCR/LOS | 16 | 12 | 9 | 150 | 25 | 11 | 10° o
S14N-SCLCR/LO9 | 18 | 14 | 10 | 160 | 26 13 | 12° oo
$16Q-SCLCR/LO9 | 20 | 16 | 11 | 180 | 28 | 15 | 12° | CC..09T3.. M4 x 8 T15 oo
$18Q-SCLCR/LO9 | 22 | 18 | 12 | 180 | 28 17 | 8° oo
S20R-SCLCR/LO9 | 25 | 20 | 13 | 200 | 325 18 | 8° oo
$25S-SCLCR/LO9 | 32 | 25 | 17 | 250 | 45 | 23 | &° B I
$25S-SCLCR/L12 | 32 | 25 | 17 | 250 | 45 | 23 | 6° [ L
$32T-SCLCR/L12 | 40 | 32 | 22 | 300 20 30 | 10° | CC..1204. M5x 12 T20 oo
S40T-SCLCR/L12 | 50 | 40 | 27 | 300 | 60 | 37 | & L
S10K-SCLPR/LO8 | 12 | 10 | 6 | 125 | 14 9 | - . e
$12M-SCLPR/LO8 | 14 | 12 | 7 | 150 | 25 | 11 | - e s i L L
S$12M-SCLPR/L09 | 14 | 12 | 7 | 150 | 25 | 11 | — oo
$16Q-SCLPR/L0S | 18 16 9 |80l 28 | 15 | - CP..0903.. M4 x 8 T15 oo
S20R-SCLPR/L09 | 22 11 |200] 32 | 19 | - sle

u ﬁﬁﬁ%ﬁiﬁﬂﬁﬁﬂﬁﬂﬁﬁﬁ%um 8f&

C04G-SCLCR/L03-05

r
Pl

5 4 : e o
CO5H-SCLCR/L03-06 | 6 O I U e T —— WG " ‘ |
CO5H-SCLCR/L04-06 | 6 5 3 100 | - - - ‘ e |
C06J-SCLCR/L0D4-07 | 7 8 35 | 110 | - - - CC..0401.. M2.2 x 3.1 T7 | o] e
C07J-SCLCR/L04-08 | 8 7 4 | 110 | - - - | o | @
C08K-SCLCR/L06-10 | 10 8 5 | 125 | - - - (e
C10M-SCLCR/L06-12| 12 | 10 6 | 150 | - - - | o o
C12M-SCLCR/L06-14 14 | 12 7 | 150 | - - - CC..0602.. M2.5x%6 T8 e
C120-SCLCR/L06-14 | 14 | 12 7 | 180 | - - - [e] @
C16R-SCLCR/L06-18 | 18 | 16 9 | 200 - - - R
C12M-SCLCR/L09-14 | 14 12 7 [ 150 | - = = | e o
C12Q-SCLCR/L09-14 | 14 | 12 7 | 180 | - = = oo
C14M-SCLCR/L09-16| 16 | 14 8 | 150 | - - - | oo
C16M-SCLCR/L09-18| 18 | 16 9 | 150 | - = - oj|e
C16R-SCLCR/L09-18 | 18 | 18 9 | 200 - = = CC..09T3.. M4 x 8 T15 o]
C20R-SCLCR/L09-22 | 22 | 20 | 11 | 200 | - = = 3 (e}
C20S-SCLCR/L09-22 | 22 | 20 @11 | 250 | - | - B |e|o
C25R-SCLCR/L09-32 | 29 | 25 | 14.5| 200 | - = - | oo
C25S5-SCLCR/L09-32 | 29 | 25 | 145 250 | -~ - = | oo
C10M-SCLPR/L08-12| 12 | 10 6 | 150 | - - - CP..0802.. M3 x5 To L
C120-SCLPR/L08-14 | 14 | 12 | 7 | 180 | — | - - o o
C12Q-SCLPR/L09-14 | 14 | 12 7 | 180 | - - - ° o
C16R-SCLPR/L09-18 | 18 | 16 | 9 | 200 — | - - | CP..0903.. Mdxa T15 (o ®
C04G-SJLCR/L03-055 | 5.5 4 |295| ogp | 065 - = JC..0301.. M1.8x2.5 T6 A
T AL 550 B 7R 70 4T (<Pl 7K BY) ‘
EO5H-SCLCR/L03-06 | & 5 3 | 100 | - = = CC..0301.. M1.8x2.5 T6 O
E06J-SCLCR/L04-07 il 6 3.5 | 110 = = = CC..0401.. M2.2x3.1 T7 L e
E08K-SCLCR/L06-10 10 8 5 125 L = = e | O
E10M-SCLCR/L06-12 | 12 10 6 150 & ik = ® | O
E12M-SCLCR/L06-14 | 14 | 1o 7 1850 | - = = CC..0602.. M2.5 % 6 T8 e O
E12Q-SCLCR/L06-14 | 14 12 7 180 = i = | O
E16R-SCLCR/L06-18 18 16 g 200 B = = | O
E12M-SCLCR/L09-14 | 14 12 7 150 = = = e | O
E12Q-SCLCR/L09-14 | 14 12 7 180 B B - 8: ||
E16R-SCLCR/L09-18 | {8 | 15 9 | 200 | ~ - - CC..09T3.. M4 x 8 T15 e 0
E20R-SCLCR/L09-22 | 22 20 11 | 200 = = = e | O
E20S-SCLCR/L09-22 | 29 20 11 250 = = = ® | O



User
Rectangle

User
Rectangle

User
Rectangle


W AR ZETIR

Internal Turning Holder

m SCLCE!
BPENFG

16

150 | 20

S07M-SCLCR/L06-A16| 9 4.5 15 = M2.5x5 T8 e e
S08M-SCLCR/L06-A16 10 16 5 150 20 15 - CC. 0602 o | e
S10M-SCLCR/L06-A16| 12 | 16 | 6 | 150 | 20 | 15 - wRBRR T - =
S$12M-SCLCR/L06-A16 14 16 T 150 25 15 - ' e | e
S$12M-SCLCR/L09-A16 16 16 8 150 25 15 - e | e
$140-SCLCR/L09-A16 | 16 | 16 | 8 | 180 | 35 | 15 | -  ©C..09T3.. M4 x 8 T15 A
5$14Q-5CLCR0O9/L-A16-60L 16 1 6 8 180 60 15 et [ ] (]
BRALISRB N ER RN

CO604H-SCLCR/L03-05-10 | 5 6 | 25100 10 | 55 | - o[
CO605H-SCLCR/L03-06-10 | 6 6 | 3 100 10 55| = CC.0301. M1.8x2.5 T6 allie
C0807K-SCLCR/L04-08-15 | 8 8 | 4 |125] 15 | 7 — | ©C..0301.. M2.2 x 3.1 T7 o o

B SCKCH!
CEEY))

10.5

EXCH VRN

S08K-SCKCR/L06 8 | 55 | 125 oo
S10K-SCKCR/LO6 | 13.5| 10 | 6 |125| 22 | o | 12° | ccC.0602.. M2.5x 6 T8 sl
S12M-SCKCR/LO6 | 16 | 12 | 7 | 150 | 23 | 11 | 10° o o
S12M-SCKCR/L03 | 14 | 12 | 8 | 150 | 30 | 11 | 12° o o
S14N-SCKCR/LOS | 15 | 14 8 | 160 | 30 | 13 | 10° o o
S16Q-SCKCR/L0S | 20 | 15 | 9.5 | 180 | 30 | 15 | 10° | CC..09T3.. M4 x 8 T15 oo
S20R-SCKCR/LOS = 25 | 20 | 11.5| 200 | 35 | 19 | &° o o
S255-SCKCR/L09 | 31 | 25 | 14 | 250 | 40 | 24 | &° o o
LR ik FJ‘J‘EJ]HF)FEH%LID> 8%
COBK-SCKCR/LO6 | 10 g ) T ol
C10K-SCKCR/LO6 | 13 10 & | 488 = | w |- CC..0602.. M2.5x 6 T8 o o
C12M-SCKCR/L06 | 16 | 12 | 7 |1s0| - | - |- o o
C12M-SCKCR/LOS | 16 | 12 | 7 | 150 | - | - | - o o
C16Q0-SCKCR/LOS | 20 | 16 = 9 |180| - | - |- o |
C20R-SCKCR/LO9 | 24 | 20 115|200 | - - |- GE..08T3.. M8 745 o o
C20S-SCKCR/L09 | 24 | 20 | 115|250 | - | - |- o o

m SCZCH!
CEIESY))

12

R A3°

126 | 25

13°

-
Eﬂ,

|led,]

|
III

:zg|

=

S08K-SCZCR/L06 6.5 7 oo
S10K-SCZCR/L06 14 | 10 | 75 125 | 27 | 9 | 12 o o
S12M-SCZCR/LO6 | 16 | 12 | 8.5 | 150 | 30 | 11 | 1o° | C©-0802. M2.5%6 T8 & | @
$16Q0-SCZCR/L06 | 20 | 16 | 105|180 | 35 | 15 | 18° e
S16Q0-SCZCR/L0S | 21 | 16 | 11.5| 180 | 35 | 15 | 10° oo
S20R-SCZCR/L09 25 | 20 | 135|200 | 40 | 19 | 8 | CC..09T3.. M4 x 8 T15 o o
$25S-SCZCR/L09 32 | 25 | 16 | 250 | 42 | 24 | 6° e o
m LSBT B R MRL/D> 845

C04X-SJZCR/L03-065 6.5 | 4 | 4 | 93 [ 4.8 | | JC.0301.. | M1.8x25 | T6 oo |




B AIEZETIF Internal Turning Holder

m SDUCH!
RILEN

=y
Q- Ty s GEReTETEs |
r— |

S08K-SDUCR/L07 13

[ ] [ ]
S10K-SDUCR/LO7 | 156 | 10 | 8 | 125 | 25 | 9 | 10° | DC..0702.. M2.5 x 6 T8 oo
$12M-SDUCR/LO7 | 17 12 | 9 | 150 28 | 11 | & o|e
$160-SDUCR/LO7 | 22 | 16 | 11 | 180 30 | 15 | 6° ol
$16Q-SDUCR/L11 l. 22 | 16 | 11 | 180 | 30 | 19 | 6° ‘ oo
S20R-SDUCR/L11 | 32 | 20 | 16 | 200 | 40 | 24 | 6 ol
$25S-SDUCR/L11 | 39 | 25 | 20 | 150 40 | 30 | 4 | DPC-11T3 Mo T ol
§32T-SDUCR/L11 | 50 | 32 | 24 | 300 | 45 | 38 | 4° ‘ oo

== [ o)

B R HBRE B =B RL/D> 848
C10M-SDUCR/LO7 | 13 | 10 | 7 | 150 | - | - »
C12M-SDUCR/LO7 | 16 | 12 | 9 | 150 | - | - 2|
C120-SDUCR/LO7 | 16 12 | 9 | 180 - | - 2

C14M-SDUCR/L07 18 14 10 | 150 _ _ : | DC..0702.. M2.5x 6 T8

C16M-SDUCR/LO7 | 20 | 18 | 11 | 150 | - . -
C16R-SDUCR/LO7 | 20 | 16 | 11 | 200 | - = |
C16M-SDUCR/L11 | 20 | 16 | 11 | 150 @ - = - ‘
C16R-SDUCR/L11 | 20 | 16 | 11 | 200 | - = -
C20R-SDUCR/L11 | 23 | 20 |12.5]| 200 | - = n | PEELES
C20S-SDUCR/L11 | 23 | 20 |125| 250 | - - o
C25R-SDUCR/L11 | 31 | 25 | 16 | 200 - - -
C25S-SDUCR/L11 | 31 | »5 | 16 | 250 | - | - |

M4 x 8 Ti5

m SDQCH!
RILET

S10K-SDQCR/LO7 13 10 £ 1256 | 23 9 10°
$12M-SDQCR/L07 | 16 12 9 150 | 30 11 8° DC..0702.. M2.5x6 T8
$16Q-SDQACR/LO7 | 20 16 | 10.5| 180 | 30 15 6°
S20R-SDQOCR/L11 | 25 20 13 | 200 | 39 19 6°
§258-SDQCR/L11 | 32 25 16 | 250 @ 40 24 4° DC..11T3.. M4 x 8 T15
$32T-SDOCR/L11 | 39 32 20 | 300 | 43 30 4°

W B LS MBS R 7) AR R BRL/D> 848

C10M-SDQCR/LO7 | 13 | 10 | 7 | 150
C12M-SDQCR/LO7 | 16 | 12 | 9 |150 - | - | -
C120-SDQCR/LO7 | 16 12 | 9 | 180 - | - =
C14M-SDQCR/LO7 | 18 | 14 | 10 [150 - | - | -
C16M-SDQCR/LO7 | 20 | 16 | 11 | 150 @ - = =
C16R-SDQCR/LO7 | 20 | 16 | 11 | 200 | - | - | -
C16M-SDQCR/L11 | 20 16 | 11 | 150 @ - = =
C16R-SDQCR/L11 | 20 | 16 | 11 [200 | - | - | -
C20R-SDQCR/L11 | 23 20 | 13 | 200 - = =
C20S-SDACR/L11 | 23 | 20 | #3 | 280 | = | = | = | DPC.1TS.
C25R-SDQCR/L11 | 31 25 | 16 | 200 | - = s
C25S-SDQCR/L11 | 31 | 25 | 16 | 250 | - | - | -

DC..0702.. M2.5x6 T8

M4 x 8 T16




B HEZETIF Internal Turning Holder

m SDZCH!
CEES)

.
d

H
[ 1
NGNS
s
L1 |
L

%4

1

S10K-SDZCR/L07 10 | 8.5 | 125 | 28 9 127
$12M-SDZCR/L07 18 12 || 85 [ 150/ | 30 11 10° DC..0702.. M2.5x6 T8
§16Q-SDZCR/L07 24 16 | 11.5| 180 | 30 15 8°
S20R-SDZCR/L11 28 20 | 14.5| 200 | 40 19 8°
§255-SDZCR/L11 34 25 17 | 250 | 45 24 6° DC..11T3.. M4 %8 T15
$32T-SDZCR/L11 38 32 [ 20.5)| 300 | 50 30 4°

W ERILES B R NI H B R BRL/D> 848
C10M-SDZCR/LO7 | 14 | 10 | 8.5 | 150 | -
C12M-SDZCR/LO7 | 17 | 12 |10.5| 150 | - | - | - | DC.0702. | M25x6 T8
C16R-SDZCR/LO7 | 21 | 16 125|200 | - | - | -
C20R-SDZCR/L11 | 26 | 20 | 155|200 | - | - | -
C20S-SDZCR/L11 | 26 | 20 | 155|250 | - | - | -

C25R-SDZCR/L11 | 83 | 25 | 18 |200| - | - | - | PC-11T3- M e
C25S-SDZCR/L11 | 33 | 25 | 18 | 250 | - | - | -

m SDWCH!
AILEN

— (i -
4 #62.5° | it e e ey

S$12K-SDWCR/L07
$16Q-SDWCR/L07
S20R-SDWCR/L07
S20R-SDWCR/L11
S$255-SDWCR/L11
S$32T-SDWCR/L11

m SDXCH
AILET

S08K-SDXCR/L07 10

5
S10K-SDXCR/LO7 | 13 | 10 | 6 | 125| 8 | 7 | 10°
S12M-SDXCR/LO7 | 16 12 | 7 | 150 | 11 | 8.5 | g | DC-0702. | M25x6 e
S$160-SDXCR/LO7 | 20 | 16 | 9 | 180 | 15 | 11 | 6°
S160-SDXCR/L11 | 20 | 16 | 9 | 180 | 15 | 11 | 6°
S20R-SDXCR/L11 | 25 | 20 |11.5| 200 | 19 | 13 | 6° | DC.11T3. | Mdx10 T15

i
§258-SDXCR/L11 32 25 1 250 | 24 17 4°

4
B RSB R I B R RL/D> 848

C08K-SDXCR/L07 10 8 5 125 | - - - LA
C10M-SDXCR/L07 13 10 6 150 | - - - o
C12M-SDXCR/L07 16 12 7 150 - - - R 0702. MEss L . &
C16R-SDXCR/L07 20 16 9 [200]| - - - Shxe
C20R-SDXCR/L11 25 | 20 [11.5]| 200 | - - - . @
C20S-SDXCR/L11 25 | 20 ||H1.5 ]| 250 = - = DC..11T3.. Md x10 Ti5 .0
C25R-SDXCR/L11 32 | 25 | 14 | 200 | - —~ - .

L ] [ ]

C25S-SDXCR/L11 32 25 14 | 250 = = =




B NEZETIF Internal Turning Holder

m STUBH®!
CEED)!

o f7 . A%
\g %
| . ‘

45

NETDF

S0806H-STUBR/L06

i 8 i e | e
S1006K-STUBR/LO6 | 7 10 | 35 | 125 | 20 | 9 | 12° oo
S1207K-STUBR/LOG | 8 | 12 | 4 | 125 | 25 | 11 | 12¢ | 1BGT0680102 Mz T8 o |
S1607M-STUBR/L06 | 8 16 | 4 | 150 | 25 | 15 | 12° ol
ERILSC B R T AT R M RL/D> 8 4%
C06J-STUBR/L06-07 | 7 6 | 35 [110] - | 55 = ' o e
C07J-STUBR/L06-08 | 8 7 - I 1 6 _ | TBGTO60102 M2 x 4 T6 oo
_CO8K-STUBR/L06-09| 9 8 | 45 | 125 - 7 = o e
RILSHENERR DT
CO0807K-STUBRo6-08 | 8 | 8 | 4 [125] 15 | 7 | - | TBGTO60102 | M2x4 | 16 | o] o]
BRALESHMENEBEDF(POEIKIL
E06J-STUBRO6/L-07 | 7 | 6 |35 110 - | 5 | - | TBGT0O60102 | M2x4 | T6 | oo

mSTUCH!
RALED

S08K-STUCR/L09 | 10.5

8 5 | e
S10K-STUCR/L09 | 13.5| 10 6 | 125 | 24 9 18° TC..0902.. M2.2x6 T6 e o
S12M-STUCR/L09 | 16 12 i e [ e e
S10K-STUCR/L11 | 13.5| 10 6 | 125 | 24 9 122 ° o
S12M-STUCR/L11 | 16 12 7 | 150 | 27 | 11 | 10° L
$14Q-STUCR/LM1 18 14 8 | 180 | 30 | 13 9° L]
S$16Q-STUCR/L11 20 16 9 | 180 | 30 | 15 8° Rt 102 WMpE w0 T8 o|e
S20R-STUCR/L11 25 | 20 | 11 | 200 | 35 | 19 6° o o
S$25S-STUCR/L11 31 25 | 13.6| 250 | 40 | 24 4° (K]
S20R-STUCR/L16 25 20 | 11.5 | 200 | 40 19 8° ll s
S255-STUCR/L16 31 25 | 14 | 250 | 40 | 24 6° TC..16T3.. M4 x 10 T15 ° e
S32T-STUCR/L16 39 | 32 |17.5]| 300 | 45 | 30 4° L
BB RN RS EL/D> 84S
C08K-STUCR/L09 10 8 5 | 125 | - 7 25 LB
C10M-STUCR/L09 | 12 10 6 | 150 | - 9 = ° e
C12M_STUCR/LOS | 14 oo T 1 _ TC..0902.. M2.2x6 T6 . | >
C12Q-STUCR/L09 b2 7 | 180 | - 11 = ° | *
C10M-STUCR/L11 | 12 10 6 150 | - 9 = L
C12M-STUCR/L11 | 14 | 12 7o 50— 11 = LAl
€12Q-STUCR/L11 14 12 7 | 180 | - 11 = AN
C14M-STUCR/L11 16 14 8 150 = 13 = o=
C16M-STUCR/L11 | 18 16 9 | 150 | - 15 = .| .
RS TOERIEAA b e O o 2 - TC..1102.. M2.5% 6 T8 s
C20R-STUCR/L11 22 20 11 | 200 = 19 = .|
C20S-STUCR/L11 22 20 11 | 250 = 19 = LE L
S25R-STUCR/L11 32 o5 | 16 | 200 | - 24 = B
S255-STUCR/L11 32 | 25 | 16 | 250 | - 24 = o
BB EBE T (R E K
E08K-STUCR/L09 10 8 5 | 125 | - 7 = TC..0902.. M2.2 x 6 T6 e e
E10M-STUCR/L11 12 10 6 | 150 | - 9 - o | @
E12M-STUCR/L11 14 12 7 150 = 11 - LA
E12Q-STUCR/L11 14 7. fg0.| = 11 - s | =
E1aR. STUCRILTT P 12 § | B0 | - rpe - TC..1102.. M2.5%6 T8 e
E20R-STUCR/L11 22 20 11 200 = 19 - lll B
E20S-STUCR/L11 | 22 | »g | 11 | 250 | - 19 - o e




B AREZETIF Internal Turning Holder

m STUPHE!
HILET)

e

S08K-STUPR/L09 10:5 [ :8

55 | 125 e
S10K-STUPR/L09 13.5| 10 | 6.5 | 125 | 24 9 | 13° | TP..0902.. M2.5 x 6 T8 e | o
$12M-STUPR/L09 16 | 12 | 75 | 150 | 27 | 11 | 10° _ oo
S10K-STUPR/L11 13.5| 10 | 6.5 | 125 | 24 9 | 12° | [ e | o
$12M-STUPR/L11 16 | 12 | 7.5 | 150 | 27 | 11 | 10° l oo |
$140-STUPR/L11 18 | 14 | 85 | 180 | 30 | 13 | 9 | * | o
S16Q-STUPR/L11 | 20 | 16 | 9.5 | 180 | 30 | 15 | & | 1T-1103- i (L oo
S20R-STUPR/L11 25 | 20 |11.5| 200 | 35 | 19 | 6° | e
S25S-STUPR/L11 | 31 | 25 | 14 | 250 | 40 | 24 | 4° oo
S20R-STUPR/L16 25 | 20 | 12 | 200 40 | 19 | & oo
$255-STUPR/L16 31 | 25 | 145|250 | 40 | 24 | 6° TP..1603.. M4 x8 T15 o | e |
S32T-STUPR/L16 39 | 32 | 18 | 300 | 45 | 30 | 4 |
RIS EFBEMRL/D> 848
C08K-STUPR/L09 10 8 | 55125 - 7 - e
C10M-STUPR/L09 12 | 10 | 6.5 | 150 | — 9 = el
C12M-STUPR/LOS | 14 | 12 | 7.5 | 150 - | 11 =] VE.0RR2. MR-k T8 oo
C120-STUPR/L09 14 | 12 | 75 | 180 | - 11 = slire
C10M-STUPR/L11 12 | 10 | 6.5 | 150 | - 9 = s | @
C12M-STUPR/L11 14 12 7.5 | 150 - 11 = L
C12Q-STUPR/L11 14 12 | 7.5 | 180 | - 11 = L
C14M-STUPR/L11 16 14 | 85 | 150 | - 13 = ||
C16M-STUPR/L11 18 9.5 | 150 - 15 - L
ETERS ST L }z o [ s = | TP..1103.. M3 x 8 T8 ol e
C20R-STUPR/L11 29 20 | 11.5| 200 - 19 = LI
C20S-STUPR/L11 29 20 | 11.5| 250 — 19 = LI
§25R-STUPR/L11 32 | 25 | 16.5| 200 | - 24 = e |3
S$255-STUPR/L11 32 ot | 16.5 | 250 _ 24 = e |
BRILESHE N EM R D FF(P O H KL
E08K-STUPR/L09 10 8 | 55| 125 | _ 7 - TP..0902.. M2.5x 6 T8 L)
E10M-STUPR/L11 12 | 10 | 65 | 150 | - 9 = |
E12M-STUPR/L11 14 | 12 | 75 | 150 | - 11 — | e
E12Q-STUPR/L11 _ — oo
BTG STUPRILT] 1; 1: ;g ;gg - 1; ~ | TP.1103.. M3x 8 T15 il
E20R-STUPR/L11 22 | 20 |11.5]200| - | 19 = s | &
E20S-STUPR/L11 22 o0 11.5 | 250 - 19 = LI
STUP11028!
S10K-STUPR/L1102 13.5 10 6.5 125 " 9 - .| e
$S12M-STUPR/L1102 16 12 7.5 150 _ 11 = LA I 4
$140-STUPR/L1102 _ = LR
S16Q-STUPR/L1102| oy = o= e | . L2 | =] TP.1102. Ml lL ol
S20R-STUPR/L1102 | 55 | o0 | 12 | 200 | - 19 = o | e
$25S-STUPR/L1102 | a1 | oe | 44e| oen | _ o = ° |

B STUP(C)&!
MILET

BNETNHF

SO7K-STUPR/L08-A12 | 9 12 | 45 [ 125 | 25 | 11 | 12°

TP..0802.. M2.2 6 T6 e | »
S08K-STUPR/LO8-A16 | 10 | 16 | 5 | 150 | 28 | 15 | 13° oo
S08K-STUCR/L0S-A12 | 10 | 12 | 5.5 | 125 | 28 | 11 | 15° oo
S0BK-STUCR/L09-A16 | 10 | 16 | 5.5 | 150 | 28 | 15 | 100 = 1C+0902- Mabxb L o |
S10M-STUCR/L11-A16 | 12 | 16 | 6 | 150 | 30 | 15 | 12° ° e
S12M-STUCR/L11-A16 | 14 | 16 | 7 | 150 | 33 | 15 | 1ge  1C--1102.. M2.5x6 T6 siine




B NEZE IR Internal Turning Holder

m STFCH!
AILET]

126 | 28 7 162

S08K-STFCR/L09 10.5 8

5 e | e
S10K-STFCR/LOS  135| 10 | 6 | 125 | 24 | 9 | 13° | TC..0902.. M2.2x6 T6 o o
S12M-STFCR/L09 | 16 | 12 | 7 | 150 | 27 | 11 | 10° oo
S10K-STFCR/L11 | 135] 10 | 6 | 125 | 24 | 9 [ 12° ° e
$12M-STFCR/L11 | 16 | 12 | 7 | 150 | 27 | 11 | 10° o o
S14Q-STFCR/L11 | 18 | 14 | 8 | 180 | 30 | 13 | 9° o o
S16Q-STFCR/L11 | 20 | 16 | 9 |180| 30 | 15 | g | TC-1102- R & o o
S20R-STFCR/L11 | 25 | 20 | 11 | 200 | 35 | 19 | 6° o o
§25S8-STFCR/L11 | 31 | 25 | 13.5| 250 | 40 | 24 | 4° o e
S20R-STFCR/L16 25 | 20 115|200 | 40 | 19 | &° e e
§25S-STFCR/L16 | 31 | 25 | 14 | 250 | 40 | 24 | 6° | TC..16T3.. M4x10 T15 oo
S32T-STFCR/L16 | 39 | 32 | 17.5|300 | 45 | 30 | 4° o o
Bk 4L $55A Bl 7R 7D FE B AR 8 RL/D> 848
CO08K-STFCR/L09 10 8 5 [ 125 | - 7 | - s e
C10M-STFCR/LOS | 12 | 10 | 6 |150 | - | 9 = oo
C12M-STFCR/LOS | 14 | 12 | 7 |150| - | 11 | - | TC--0902. M2 T8 . | .
C12Q-STFCR/LO9 | 14 | 12 | 7 | 180 | - | 11 - ° o
C10M-STFCR/L11 | 12 | 10 = 6 | 150 | - | 9 - K
C12M-STFCR/L11 | 14 | 12 | 7 | 150 | - | 11 - oo
C120-STFCR/L11 | 14 | 12 | 7 | 180 | - | 11 - o o
C14M-STFCR/L11 | 16 | 14 | 8 | 150 | - | 13 - oo
C16M-STFCR/L11 | 18 | 16 | 9 | 150 | - | 15 = o o
C16R-STFCR/L11 | 18 | 16 | 9 |200| - | 15 | - | TC-1102. Ll L oo
C20R-STFCR/L11 | 22 | 20 | 11 | 200 | - | 19 - ° o
C20S-STFCR/L11 | 22 | 20 | 11 | 250 | - | 19 - oo

m STFP&!

MILET

FHEm1°

S08K-STFPR/L09

A L ] [ ]
S10K-STEPR/L09 | 13.5 10 | 6.5 125 | 24 | 9 | 13° | TP..0902.. M2.5x6 T8 Y
S12M-STEPR/LOS | 16 | 12 | 7.5 | 150 | 27 | 11 | 10° silre
S10K-STFPR/L11 | 13.5 10 | 6.5 | 125 | 24 | 9 | 12° 5|
S12M-STEPR/L11 | 16 | 12 | 7.5 150 | 27 | 11 | 10° o
$14Q-STEPR/L11 18 | 14 | 85 180 | 30 | 13 | ©° .|
S16Q-STFPR/L11 | 20 | 16 | 95 | 180 | 30 | 15 | g | 'P-1103. Mt T8 ol
S20R-STFPR/L11 25 | 20 | 115 200 | 85 | 19 | &° =l
$25S-STFPR/L11 31 | 25 | 14 | 250 | 40 | 24 | 4 S I
S20R-STFPR/L16 | 25 20 | 12 200 | 40 | 19 | & o)
S25S-STFPR/L16 | 31 | 25 | 145 250 | 40 | 24 | & | TP..1603.. M4 x 8 T15 ol
S32T-STFPR/L16 39 | 32 | 18 300 | 45 | 30 | 4° %]
BILCHBER NN EREL/D>84E
C08K-STFPR/L09 0] 8 | 55125 - | 7 = =
C1OM-STFPR/LOS | 12 | 10 | 65 150 | — | 9 = +ilEe
C12M-STFPR/LOS | 14 | 12 | 7.5 | 150 | - | 11 - | TP.0902.. M2:5x6 T8 oo
C12Q-STFPR/LOS | 14 | 12 | 7.5 | 180 | - | 11 | - i
C10M-STEPR/L11 | 12 | 10 | 65 150 | - | 9 = o
C12M-STEPR/L11 | 14 | 12 | 7.5 | 150 | - | 11 | - o|e
C12Q-STFPR/L11 14 | 12 | 75 | 180 | - | 11 | - ol e
C14M-STFPR/L11 | 16 | 14 | 85 | 150 | — | 13 | - ol
C16M-STFPR/L11 | 18 16 | 95 150 | - | 15 | - -
C16R-STFPR/L11 T T T M8 T8 oo
C20R-STFPR/L11 22 | 20 | 115 200| - | 19 | - s |
C20S-STFPR/L11 22 | 20 |115/ 250 | - | 19 | - ra
C25S-STFPR/L16 | 32 | 25 | 16 250 | - | 24 | - | TP.1603. M4 x 8 T15 ol




B AR ZE T Internal Turning Holder

m STWCH!
RILEN

S08K-STWCR/L09

; 7 TC..0902.. B
S10K-STWCR/L11 | 14 | 10 | B | 125 | 25 | 9 | 10° o]
S12M-STWCR/L11 | 16 | 12 | 9 | 150 | 30 | 11 | & ol
S160-STWCR/L11 | 20 | 16 | 11 | 180 | 30 | 15 | e | 'C-1102- MEsarr T3 oo
S20R-STWCR/L11 | 25 | 20 | 13 | 200 | 35 19 | 4° ar
S20R-STWCR/L16 | 25 | 20 | 18 | 200 | 85 | 19 | 4° | _ — " D
S25S-STWCR/L16 | 32 | 25 | 15 | 250 | 40 | 24 | 2° - 1614, sl 15 o o
B4k $5 5 BL AR 71 AT B R B REL/D> 845
COBK-STWCR/L0S | 11 | 8 | 55 | 125 - | 7 — | TC..0902.. M2.2x 6 T6 oo
C10M-STWCR/L11 | 14 | 10 | 8 | 150 | - | 9 | - o .
C12M-STWCR/L11 | 16 | 12 | 9 | 150 | - | 11 | - ° o
C16R-STWCR/L11 | 20 | 16 | 11 | 200 | - | 156 | - | TC.1102.. M2.5x 7 T8 o e
C20R-STWCR/L11 | 25 | 20 | 13 | 200 | - | 19 | - o .
C20S-STWCR/L11 | 25 | 20 | 13 | 250 | - | 19 | - ol .

m SSSCH!
HILEN

$12M-SSSCR/L09
$16Q-SSSCR/L09
S20R-SSSCR/L09
$255-SSSCR/L09
$32T-SSSCR/L09 | _ | 19.5

SC..09T3.. T15

m SSKCH!
RS

S12M-SSKCR/L0S | 16 | 12 | 8.5 | 150 | 30 | 11 | 12°

[ ] [ ]
$160-SSKCR/LOS | 20 | 16 | 105|180 | 30 | 15 | 10° | (. .. Ma&E - o
S20R-SSKCR/L03 | 25 @20 | 12.5 200 | 40 | 19 | & RATS:. —— ol
S25S-SSKCR/L0S | 31 | 25 | 15 | 250 | 40 | 24 | 6° ol




B NIEZETIF Internal Turning Holder

mSVQB(C)R/LE!
RiLET

*wami117.5°

$16Q-SVQ*R/L11 . o[ e
S20R-SVQ*R/L11 27 | 20 | 14 | 200 | 39 | 19 |8°|6°| VB.1103.. M2.5x7 T8 oo
S20R-SVQ*R/L16 27 | 20 | 14 | 200 | 50 | 19 |10°8° °| e
$255-SVQ*R/L16 32 | 25 |16.5| 250 | 50 | 24 |8°|6° vC.1604.. fds 4D T15 oo
S$32T-SVO*R/L16 41 32 | 22.5| 300 | 55 30 [10°/8°  VB..1604.. L
S40T-SVQ*R/L16 50 | 40 | 27 | 300 | 55 | 38 |8°|6° ° | o
j{ti&ﬁﬂnﬂlﬁpﬂﬂrm S
C16R-SVQ*R/L11 22 | 16 |11.5| 200 | - 15 | -] -] wvc..1103.. M2.5x 7 T8 e o
C20R-SVQ*R/L11 27 | 20 | 14 | 200 | - 19 | -| -| VB.1103.. e o

E*REBHCTI FiER

mSVUB(C)R/LE!
AILEN

T
FRFH5° ¢

$16Q-SVU*R/L11 22 | 16 | 12.5| 180 | 30 | 15 10°8°| vC.1103.

L ] L]
S20R-SVU*R/L11 27 | 20 | 14 | 200 | 32 | 19 |8°|6°| VB.1103. L o e
S20R-SVU*R/L16 31 | 20 | 20 200 | 50 | 19 |10°8° o o
$255-SVU*R/L16 35 | 25 | 20 | 250 | 50 | 24 |8°|6°| vC.1604.. r— e o
S32T-SVU*R/L16 42 | 32 |225| 300| 50 | 30 10°8°| VB.1604.. |8
S40T-SVU*R/L16 51 | 40 | 27 | 300 | 55 | 38 |8°|6° | o e

NI REMEL/D> 848

C16R-SVU*R/L11 22 116 | 13 200 - [ 15 [ -] oo
C20R-SVU*R/L11 D AESEs O Vo1 M2.5x 7 T8 ol
C20S-SVU*R/L11 27 | 20 | 15 | 250 | - | 19 | -| - oo
C20R-SVU*R/L16 31 | 20| 19 [200] = | 19 | o - oo
C20S-SVU*R/L16 31 20 | 19 | 250 | - 19 | -| -| vC.1604.. . | o
C25R-SVU*R/L16 35 | 25 | 20 | 200| - | 24 | -| -| vB.1604.. M4x10 T15 oo
C255-SVU*R/L16 35 | 25 | 20 | 250 | - | 24 | | - oo

M URARBEHCT] F iR

m SVWB(C)R/LE
MILET]

ERET25°

_ _ 7
S255-SVW*R/L16 5°¢ VC..1604..

S$32T-SVW*R/L16 45 32 26 | 300 | 41 30 [6°|5°

VB, 1604.. M4 x10 T15 sl




B NIEZETIF Internal Turning Holder

mSVXB(C)R/LE
CEED)

S08H-SVXCR/L08 10 8

5 . [ ]
S1K-SVXCR/L08 | 12 | 10 | 6 |125| - | ¢ | -| -| VC.0802. Mex4 i o o
S10K-SVX*R/L11 | 12 10 6 126 | - 9 s L
S12M-SVX*R/L11 | 14 | 12 | 7 | 150 | - | 11 | =| =| vc.1103. — - oo
516Q-SVX*R/L11 22 | 16 | 11.5| 180 | 40 | 15 |10°|8°| VB..1103. * o e
S20R-SVX*R/L11 27 | 20 |18.5| 200 | 45 | 19 |8°|6° LI
S20R-SVX*R/L16 27 | 20 |135] 200 50 | 19 [10°8° oo
$255-SVX*R/L16 32 | 25 | 16 | 250 | 50 | 24 |8°|6° o e
S32T-SVX*R/L16 40 | 32 |19.5| 300 | 60 | 30 |078° \S-180%- M4 x 10 T15 o o
S40T-SVX*R/L16 50 | 40 | 23.5| 300 | 65 | 38 |8°|6° L
_BRLEBMBR DA RMRL/D> 865
C06J-SVXCR/L08 8.5 6 |325|110 | - S Ll
C08K-SVXCR/L0S 10 8 5 | 125 | - 7 | = VC..0802.. M2 x 4 T6 P
C10M-SVXCR/L0S 12 | 10 6 | 150 | - G| Ll
C10M-SVXCR/L11 12 10 6 150 - 9 - . .
C12M-SVXCR/L11 14 12 7 150 - 11 | = =l
C12Q-SVXCR/L11 14 12 4 180 _ 11 _ e @
C18R-SVXCR/LT1 Bl P Z5 VC..1103.. M2.5x7 ik e
C20R-SVXCR/L11 22 | 20 | 11 | 200 | - 19 | - ] W
C20S-SVXCR/L11 22 | 20 | 11 | 250 | - 19 | - Ul
C25S-SVXCR/L16 28 25 14 | 200 = 24 | — VC..1604.. M4 x10 T15 o o

i RRBECT) F ik Bl

mSVZB(C)R/LE
MILET

lLed|

'_

$16Q-SVZ*R/L11 ' 16 | 11.5| 180 | 34 | 15 [10°8°| vC.1103..

L] [ ]
S20R-SVZ*R/L11 27 | 20 | 14 | 200 | 38 | 19 |8°|6°| VB.1103. Meaxni 4 o
S255-SVZ*R/L16 | 34 | 25 | 19.5| 250 | 50 | 20 | 8°|6° o o
S32T-SVZ*R/L16 42 | 32 |235|300| 50 | 30 [f0c|8e| VS-180%- M4 x 10 T15 o
S40T-SVZ*R/L16 | 50 | 40 | 27 | 300 | 60 | 38  8°|6° o o
C16R-SVZ'RILMT | 22 | 16 | 115|200 | - | 15 | - o
C20R-SVZ*RL11 | 27 | 20 | 14 | 200 | - | 19 | - VC..1103.. —_— - oo
C208-sVZ*R/L11 | 27 | 20 | 14 | 250 | - | 19 | - VB..1103.. - oo
C20R-SVZ*R/L16 | 27 | 20 | 14 | 200 | - | 19 | - o e
C208-SVZ'R/L16 | 27 | 20 | 14 [250 | - | 19 | - Ve M4 x 10 T15 o e
C25R-SVZ'R/L16 | 34 | 25 195|200 | - 24 | - oo
C255-SVZ*R/L16 | 34 | 25 | 195|250 | - | 24 | - oo




B AEZETIF Internal Turning Holder

m SWLCH!
AILEN

S08K-SWLCR/L04 8 5 125 | 25 13°
S10K-SWLCR/L04 13 10 | 6.5 | 125 | 30 9 10° WC..0402.. M3 x 6 T10
$12M-SWLCR/L04 16 12 | 7.5 | 1560 | 37 11 13°
$16Q-SWLCR/L06 | 20 16 | 9.5 | 180 | 40 15 10°
S20R-SWLCR/LO6 | 25 20 [ 11.5| 200 @40 19 8°
§255-SWLCR/L06 | 31 25 14 | 250 | 40 24 6°

WC..06T3.. M4 x10 T15

m SWUBE
HILET

EJ00 el
WHENH "

S0805H-SWUBR/L06 7
S1006K-SWUBR/L06 7
S$1207K-SWUBR/L06 8

8

WBGT060102
$1607M-SWUBR/L06 |
B B BR A
C0807K-SWUBR/L0O6 | 8 | 8 | 4 [125 15 | 7 | - | wBGT060102 | M2x4 | T6 [e ] o]




W UIRE/ DI IR

B3 ) Kt 18 7)

B ZQ[J[IR/LE

AKORLOY'

SR

16

Grooving / Cutting-off Holder

100 |

L |
1

I
—ILT

ZQ1616R/L-02 | 2.2 | 16 16 | 16.4 | 16 | M5 x 20 L4 | e
2020R/L-02 | 2.2 | 20 | 20 | 125 | 20 |20.4| 16 | SP200 NAtion . o e
2525R/L-02 | 2.2 25 | 25 | 150 25 | 254 | 16 | o | o

ZO1616R/L-03  |3.125] 16 | 16 | 100 | 16 | 16.4 | 20 | M5 x 20 L4 e | o
2020R/L-03  |3.125 20 | 20 | 125 20 |20.4 | 20 | — o | o
2525R/L-03  [3.125 25 | 25 | 150 | 25 [25.4 | 20 | M6 x 20 L5 | e
3225R/L-03 3.125| 25 | 32 | 170 | 32 |254| 20 | | e

ZQ1616R/L-04  |4.125 16 | 16 | 100 | 16 |16.4| 25 | M5 x 20 L4 oo
2020R/L-04 4125 20 | 20 | 125 | 20 | 204 | 25 | S P
2525R/L-04 |4.125| 25 | 25 | 150 | 25 | 25.4 | 25 \ M6 x 20 L5 |
3225R/L-04 __r4_-_1_2_5_____ 32 | 82 | 170 | 32 | 254 25 L

ZQ2525R/L-05 5125/ 25 | 25 | 150 | 25 | 25.5| 30 oo
3232R/L-05  |5.125 32 | 32 | 170 32 [325 30 [\ il MBx20 L8 oo

ZQ2525R/L-06 64 | 25 | 25 | 150 | 25 | 25.5| 35 | | o
3232R/L-06 | 54 32 5 |70 Sz |25 @ | SPoon MEx20 L5 sl
8l BBHR!%E' — i tJJ mf tJJ E I’

UGHR/L1616H2 l 22 | 16 | 16 | 100 16 | 16.3| 16 KGT2 M5 x 20 L4 e o

2020K2 22 | 20 | 20 | 125 | 20 [20.8| 2 M6 x 20 L5 e o
UGHR/L1616H3 31| 16 | 16 | 100 | 16 | 16.4| 18 M5 x 20 L4 e o
2020K3 ‘ 31| 20 | 20 | 125 | 20 | 204 | 29 KGT3 T r oo

2525M3 | 31 | 25 | 25 | 150 | 25 | 254 38 & o o

~ UGHR/L2525M4 | 4.1 | 25 | 25 [ 150 | 25 | 25.5] 38 KGT4 M6 x 20 L5 oo

Tungaloy -2 VL. Rk, P)|

CTWR/L2020-3 3 20 | 20 [ 150 | 20 [20.25] 14 o s
2525-3 3 | 25 | 25 | 150 | 25 [25.25 14 CTD3 M6 x 20 L5 «|®
CTWR/L2020-4 4 20 | 20 | 150 | 20 |20.25] 14 o
25254 | 4 | 25 | 25 | 150 | 25 |25.25 14 e s LS o o

CTWR/L2525-5 5 25 | 25 | 150 | 25 |25.25] 20 CTD5 M6 x 20 L5 B

CGSSHEZKNIEN

CGSSR/L1616-30D | 3 16 [ 16 | 16 [16.5] 22 | Geso,GE30RL |

2020-30D 3 20 20 20 20.5 22 GE30-AL,GT30 M6 x 20 L5 L
2525-30D | 3 25 | 25 25 | 255 | 22 GR30 P
 CGSSR/L1616-40D | 4 16 | 16 | 16 | 16.6 | 25 | GE40,GE4ORL PR
2020-40D = 20 20 20 | 20.6| 25 GE40-AL,GT40 M6 x 20 L5 e |
2525-40D 4 25 25 25 | 256 | 25 GR40 e @

CGSSR/L1616-50D | 5 16 | 16 16 | 16.7 | 25 GE50,GESORIL I

2020-50D | 5 20 20 20 | 20.7| 25 GE50-AL,GT50 M6 x 20 L5 LI
2525-50D | 5 25 | 25 25 | 257 | 25 GRS50 e e
H-34




W UIHE /I TIAT

BIYEHET

Grooving / Cutting-off Holder

fl KTKHRILﬂ
DCERE
9I~EEJJ

»”

80

L

o
—F

KTKHR/L1010F-2S 2.2 10 10 10 | e
1212H-25 2.2 12 12 100 12 165 | e
1612H-25 ‘ 22| 12 | 16 | 100 | 16 65 ... TR AILS oo

TKN2-P TKR/L2-P
1676H-25 | 22| 16 | 16 | 100 | 16 ROl 1y T4 oo
2012K-25 | 2.2 12 20 | 125 | 20 19 o | e
2020K-25 | 22 | 20 | 20 | 125 | 20 19 ° | e

KTKHR/L1612H-3S | 3.1 12 16 100 16 18 | LI
1616H-35 | 81| 16 | 16 | 100 | 16 18 | o |
2012K-35 31 12 | 20 | 125 | 20 205 | TKNSTKALS oo
akss | 3.1 | 20 | 20 | 125 | 20 i e R oo
2525M-38 3.1 25 25 150 | 25 265 ® | @

KTKHR/L 2012K-4S [ 41 ] 12 | 20 [ 125 | 20 22 D
2020K-45 4.1 20 20 125 20 3 TKN4, TKR/L4 e | e
2525M-48 | 41| 25 | 25 | 150 | 25 &7} ° | e

KTKHR/L 2525M-55 5.1 25 25 150 25 39,5 | TKN4.8, TKN5,TKR/LS o | e

EshFEEABHEN

KTKHR/L1010K-2-125S 2:2 10 10 125 10 15 TKN2, TKR/L2 ® e
1212M-2-1258 2.2 12 12 | 160 | 12 15 | TKN2-P,TKR/IL2-P e
1616M-2-1505 2.2 | 16 16 | 150 | 16 18 | TKN24TKRL2.4 ° e

KTKHR/L1616M-3-150S 3 16 16 | 150 | 16 225 T et e o

B EKARTERNX

KTKHR/LO808BK-1.6-125B 1.6 8 8 125 8 ) e o
1010K-1.6-1258 1.6 10 10 125 10 10 TKN1.6,TKN1.6-P LR
1212M-16-1508 | 1.6 12 12 150 12 125 |TKRL1.6,TKR/L1.6-P M4 x 12 T15 s @
1414M-16-1508 | 1.6 14 14 150 14 13 e o

KTKHR/L1010K-2-125B 2.2 10 10 | 125 10 10 TKN2, TKR/L2 e o
1212M-2-1508 2.2 12 12 150 12 125 | TKN2-P, TKR/L2-P W2 T8 L ]
1616M-2-1508 2.2 16 16 150 16 16 TKN2.4,TKR/L2.4 M5x12 L4 e | e

KTKHR/L1616M-3-150B | 3.1 16 | 16 | 150 | 16 16 B ir ey M5 x 12 L4 K




B VIR /D)W TIRF Grooving / Cutting-off Holder

WY EFNEN
® MGEHR/LE

AKORLOY'

hEEN

BRAENR

MGEHR/LE!

MGEHR/L1010-15 | 1.5 | 10 10 | 100 | 10 10 14 L
1212-15 | 1.5 | 12 | 12 | 100 | 12 | 12 | 14 | MGMN1S0-G Maxal L4 ol
MGEHR/L1010-2 2 [ 10| 10 [100] 10 | 10 | 14 | oo
12122 | 2 | 12 | 12 | 100 | 12 | 12 | 14 | MGMN200-G M5 x 20 L4 o |
16162 | 2 | 16 | 16 | 100 | 16 @ 16 | 16 | MRMNZ00 oo
20202 | 2 | 20 | 20 | 125 | 20 | 20 | 16 | M6 x 20 L5 oo
MGEHR/L1616-25 | 2.5 | 16 | 16 | 100 | 16 | 16 | 16 | M5 x 20 L4 ° |
202025 | 25 | 20 | 20 | 125 | 20 | 20 | 16 | MGMN250 o T o
2525-25 | 25 | 25 | 25 | 150 | 25 | 25 | 16 | oo
MGEHR/L1616-3 3 [ 16 | 16 | 100 | 16 | 16 | 20 | M5 x 20 L4 °| o
2020-3 | 3 20 | 20 | 125 | 20 | 20 | 20 MaNen oo
2525-3 3 25 25 150 25 25 20 MBMN300 M6 x 20 L5 e | e
3232-3 | 4 g2 | 82 [ H70]| 82 |52 |20 | e
MGEHR/L1616-4 4 | 16 | 16 | 100 | 16 | 16 | 20 M5 x 20 L4 ol
20204 | 4 | 20 | 20 125| 20 | 20 | 20 Ml e oo
2525-4 4 25 25 150 25 25 20 MRMN400 M6 x 20 L5 | e
32324 | 4 32 | g2 | 170| 32 | 32 | 20 | o e
MGEHR/L2020-5 5 | 20 | 20 | 125 | 20 | 20 | 25 MGMN500 oo
25255 | 5 | 25 | 25 | 150 | 25 | 25 | 25 MGGN500 M6 x 20 L5 o| e
3232-5 5 | 32 | 32 | 170 | 32 | 32 | 25 MERbSIE oo
MGEHR/L2525-6 6 | 25 | 25 | 150 | 25 | 25 | 25 MGMNG00 o[
32326 | 6 | 32 | 32 | 170 | 32 | 32 | 25 | MBGNeSe M6 %20 LS .|
HNNA
MGEVR/L1616-2 2 16 | 16 [ 100] 16 [21.3| 5 [ 0 00 & M5 x 20 L4 [o]e]
MGEVR/L2020-2 2 | 20| 20| 125 20 |26.3| 6 M6 x 20 L5 o e
MGEVR/L1616-25 | 2.5 | 16 | 16 | 100 | 16 | 21.3| 5 T — M5 x 20 L4 o]
MGEVR/L2020-25 | 25 | 20 | 20 | 125 20 | 26.3| 6 M6 x 20 L5 o o
MGEVR/L1616-3 3 | 16| 16| 100 16 | 24 | 7 MGMN00 M5 x 20 L4 [o o
MGEVR/L2020-3 3 20 20 125 20 | 26.5 6 MRMN300 M6 x 20 L5 LEE
MTSUBISH! =) 8 ) )
DGHR/L1616K2 2 | 16 | 16 | 125 | 16 | 16.2] 16 | M5 x 20 L4 oo
2020K2 2 | 20 | 20 | 125 | 20 |202]| 20 DGM20CE oo
2525M2 2 | 25 | 25 | 150 | 25 | 252 | 20 Mexel il K
DGHR/L1616K3 3 | 16 | 16 | 125 | 16 [16.2] 16 | M5 x 20 L4 ° |
2020K3 3 | 20 | 20 | 125| 20 | 202 20 beTiBeGE o
2525M3 3 | 25 | 25 | 150 | 25 |252| 20 | DGJ30CE M6 x 20 L5 o e
3232P3 3 | 32 | 32 | 170 | 32 | a2 [ 20 oo
DGHR/L2020K4 4 | 20| 20 | 125] 20 [202] 20 o
2525M4 4 | 25| 25 | 150 | 25 |25.2| 20 | pgu4ocE M8 x 20 L5 S5|ne
3232P4 4 32 32 | 170 | 32 | 32 | 20 e | e
DGHR/L2525M5 5 |25 [ 25150 25 [252]°20°| pausoce M6 x 20 L5 o
3232P5 5 | 32 | 32 | 170 | 32 | 32 | 20 o |
DGHR/L2525M6 gl [m2si N asaso| sl es2 [R2eY L6 is0cE e L5 oo
3232P6 6 | 32 | 32 | 170 | 32 | 32 | 20 oo
ZEGY2VEIIY & E N
GYR/L1616H2 2 | 16 ] 16 [ 100 ] 16 | 16 | 18 M5 x 20 L4 o
2020K2 2 | 20| 20 |125| 20 | 20 | 20 GY2M0200 oo
2525M2 2 | 25 | 25 | 150 | 25 | 25 | 20 e = oo
GYR/L1616H3 3 | 16 | 16 | 100 | 16 | 16 | 18 M5 x 20 L4 oo
2020K3 3 | 20 | 20 [125 [ 20 [ 20 | 20 | &veniencs =
2525M3 3 | 25 | 25 | 150 | 25 | 25 | 20 GY2M0318 M6 x 20 L5 oo
3232P3 3 | 32| 32 | 170 | 32 | 32 | 20 oo
GYR/L1616H4 4 | 16 | 16 | 100 | 16 | 16 | 12 oo
2020K4 4 | 20| 20 |125| 20 | 20 | 25 6|o
2525M4 4 | 25 | 25 | 150 | 25 | 25 | 25 GY2M0400 M6 x 20 L5 oo
3232P4 & | g2l goi|H7o | 32| 520 |25 oo
GYR/L 2525M5 5 | 25 | 25 | 150 | 25 | 25 | 25 oo
3232P5 5 | 82 | 32 | 170 | 32 | 32 | 25 i i L3 6o




W UIHE /I TIAT

34 By ) ¥ 7

Grooving / Cutting-off Holder

B CGWSR/L#
unalo

16.4

Tma

i i
E =|
b i =B 4
L |
K] \

CGWSR/L1616-W20-L | 2 16 16 | 100 | 16 15 | WeEso M5 % 20 L4 )
2020-w20-L | 2 | 20 | 20 | 125 | 20 | 204 | 15 | \yGEsomiL M6 x 20 L5 o | e
2525-W20-L | 2 25 | 25 | 150 | 25 | 25.4 | 15 e

CGWSR/L1616-W30-L | 3 16 | 16 [ 100 | 16 | 16.4[ 16.5 ng;fgﬂ_ M5 x 20 L4 oo
2020-W30-L 3 20 20 | 125 | 20 | 20.4 | 16.5 | WGeTA0 M6 x 20 L5 L
2525-W30-L | 3 25 | 25 | 150 | 25 |25.4| 165 WGR30 LA

CGWSR/L2020-W40-L = 4 20 20 125 20 | 20.4| 21 |WGE40,WGE40R/L | e
2525-W40-L | 4 25 25 150 25 | 2584 | 21 WGET40, WGR40 M6x 20 L5 e | e

CGWSR/L2020-W50-L 5 20 20 | 125 | 20 | 20.4 | 21 |WGE50,WGE50R/L e e
25-wso-L | 5 | 25 | 25 | 150 | 25 | 25.4| 21 | warso,wanso Moyay kS o|e

l‘i‘yTaeguTec HE R EEN
TTER/L 1010-1.4T15 1.4 10 10 125 10 9.5 15 [ el
1212-1.4T15 14 | 12 | 12 | 125 | 12 | 115 15 _— MSx20 L& s
1616-1.4T20 1.4 | 16 | 16 | 125 | 18 [155| 20 ' M6 x 20 L5 e |0
2020-1.4T20 1.4 | 20 | 20 | 125 | 20 |[19.5| 20 s |0
TTER/L 1010-2T15 2 10 | 10 [ 125 [ 10 | 9.1 | 15 e |0
1212-2T15 2 | 12 | 12 | 125 | 12 | 111 15 TDC2 Ma=20 L4 oo
1616-2T20 2 16 | 16 | 125 | 16 | 151 20 iy e |0
2020-2T20 2 20 20 | 125 | 20 [ 19.1 20 M6 x 20 L5 s |0
2525-2T20 2 25 | 25 | 150 | 25 |24.1 20 e |0
TTER/L 1212-3T15 ) 12 12 | 125 | 12 (10.8| 15 TDC3 M5 x 20 L4 e |0
1616-3T20 3 16 16 | 125 | 16 | 14.8 | 20 ';g‘ig e | 0O
2020-3T20 3 20 20 | 125 | 20 | 18.8| 20 TDXUS3 M6 x 20 L5 e O
2525-3T20 3 25 25 150 25 | 23.8| 20 TDT3 e | O
2525-3T20 ‘ J 25 | 25 | 150 | 25 [23.8| 20 L[
TTER/L1616-2 | 2 16 | 16 | 110 | 16 | 15.1| 12 —— e |0
2020-2 | 2 | 20 | 20 |125| 20 |19.1| 12 TSC2 MEx20 L5 e|o
2525-2 2 25 25 | 150 | 25 | 241 | 12 TDJ2 e |0
TTER/L1616-3 [ 3 [ 16| 16 [ 110 ] 16 [148| 12 | ;pcs 1eca ° |0
2020-3 3 20 | 26 | 125 | 20 188 [ 12 |-np "oy M6 x 20 L5 e |0
2525-3 | 3 25 | 25 | 150 | 25 | 238 | 12 TDT3 e |0
TTER/L1616-4 4 16 | 16 | 110 | 16 [ 145 | 15 | 1pca. Tsce e |0
2020-4 | 4 | 20 | 20 | 125 | 20 | 18.5| 15 | Tpys TOXU4 M6 x 20 L5 o |0
25254 4 25 | 25 | 150 | 25 | 23.5| 15 TDT4 e |0
TTER/L2020-5 | 5 20 20 125 20 18.1 20 TDC5. TSC5. TDJ5. M6 x 20 L5 o |0
2525-5 5 | 25 | 25 150 | 25 |23.1 | 20 TDXUS, TDTS x oo
TTER/12020-6 G P 0 ] 2 (= [ —" E
25256 6 25 | 25 | 150 | 25 |22.6 20 TOXUe. TOT6 M6 x 20 L5 oo
TTER/L2525-8 | 8 | 25| 25 [ 150 | 25 [221| 25 — —— - oo
3232-8 8 32 32 170 32 | 291 25 TDXUs, TDT8 o |0
TTER/L2525-10T25 |Ttor g5 | 250 ts0 ] 25 | 2|25 oo
3232-10T40 10 32 32 170 32 | 281 40 TDT10 M8 x 30 L6 o | o
4040-10T40 | 10 | 40 | 40 | 200 | 40 |36.1| 40 oo




B UIFE /D)W TIA Grooving / Cutting-off Holder

MWL) i ) ¥8 70
" Bioceen I alar—ws
JOCERA o b
© T E— s i
RS KGMSR/L _F e :l
KGMR/L L —

KGMR/L2012K-2T17 | 2 12 | 20 | 125 | 20 [11.15] 17 | M5 x 20 °
wakzr7 | 2 | 20 | 20 | 125 | 20 [19.45 17 | CMM2420 N
& | GMM2020R/L M6 x 20 L5
2625M-2T17 | 2 25 | 25 | 150 | 25 |24.15 17 | el e
KGMR/L1212H-3 B 12 | 12 [ 100 | 12 [108| 9 | M5 x 20 L4 o e
1616H-3 | 3 16 | 16 | 100 | 16 | 148 9 | oo
20203 | 8 | 20 | 20 | 125| 20 | 188 9 | GMM3020 oo
2525M-3 3 25 | 25 | 150 | 25 | 23.8| 9 | GMG3030 oo
161643120 | 3 | 16 | 16 | 100 | 16 | 14.8 20 | GMM3020R/L M6 x 20 L5 oo
2012K-3T20 3 12 20 125 20 | 10.8| 20 L
2020k-3720 | 3 20 | 20 | 125 | 20 | 18.8| 20 oo
2525M-3T20 | 3 25 25 150 | 25 | 23.8| 20 | e | @
KGMR/L2020K—4 [ 4 20 | 20 | 125 20 | 18.3] 10 | o e
2525M-4 4 25 25 150 25 | 23.3| 10 | GMM4020 o | e
2020k4120 | 4 | 20 | 20 | 125 | 20 | 18.3| 20 GMG4030 M6 x 20 L5 o
2525M-4T20 4 25 | 25 | 150 | 25 | 23.3| 20 | GMM4020R/L o e
- 2525M-4T25 | 4 25 | 25 | 150 | 25 | 28.8| 25 | o | e
KGMR/L2020K-5 5 20 20 125 20 17.8 10 | e | o
525M-5 | 5 25 | 25 | 150 | 25 | 228 10 | GgMmMs020 ol e
3232P-5 5 32 | 32 | 170 | 32 | 298 10 | GMG5030 M6 x 20 L5 oo
2525M-5T25 | 5 | 25 | 25 | 150 | 25 | 22.8| 25 | GMMS5020R/L oo
3232P-5T25 5 32 | 32 | 170 | 32 | 29.8| 25 | oo
KGMR/L2525M-6T30 | 6 A5 25 | 150 | 25 | 22.4| 30 GviMezD ChaEmD M6 % 20 L5 oo
KGMR/L2525M-8 8 25 | 25 | 180 | 25 [ 22.0] 25 GMM8020 o oo
3232P-8 8 | 32| 32 | 170 | 32 | 20.0| 25 0oLt MEx 20 L5 sl
EEET: ;] T e e
KGMR/L0O810K-1.5-125 I 15 10 8 125 8 9.4 5 e | e |
1010k-15-125| 1.5 | 10 | 10 | 125 | 10 | 9.4 | 10 Sk M5 x 20 L4 oo
1212F-1.5-85 | 155 12 12 85 12 114 | 12.5 GMM1520R/L e e |
1212M-15-150 1.5 12 12 | 160 | 12 | 11.4| 125 e | e
KGMR/LOB10K-2-125 | 2 10 [ 8 [125] 8 [ 9.2 5 e e
1010K-2-125 | 2 10 | 10 | 125 | 10 | 9.15| 10 e o
1212F-2-85 2 | 12 | 12 | 85 | 12 |[11.45| 12.5( SMM2420 M5x20 L4 oo
1212M-2-150 | 2 12 | 12 | 150 | 12 [11.15) 125 e | o
1616M-2-150 | 2 16 16 | 150 | 16 |15.15| 16 M6 x 20 L5 o o |
KGMR/L1010K-25-125 | 2.5 10 10 | 125 | 10 9 10 e o
1212F-25-85 | 2.5 | 12 | 10 | 8 | 10 | 11 | 125 GMM2520 M5 x 20 L4 o o
1212M-25-150 2.5 12 12 150 12 11 12.5 GMM2520R/L e o |
1616M-25-150 2.5 | 16 | 16 | 150 16 | 15 | 16 M6 x 20 5 « o]
KGMR/L1616M-3-150 | 3 16 | 16 | 150 | 16 | 14.8| 16 ey M6 x 20 L5 e o |
_ HNNA
KGMSR/L1212H-3 3 12 12 100 12 17 4.8 M5 x 20 L4 e o
1616H-3 3 | 16 | 18 | 100 | 16 |21.5| 48| SMMI020 o
2020K-3 3 20 20 125 20 25 4.8 GMM3020R/L M6 x 20 L5 e e
2525M-3 3 25 | 25 | 150 | 25 | 30 | 4.8 o e




B VIR /U TIA Grooving / Cutting-off Holder

1) Bt 7] EE 7] R

m SPBH!
SHEET

@BKORLOY'| KORLOY#] & 71 1R

SP200,200R/L

2 . °
26-3 3 2.4 26 110 21 SP300,300R/L ]
26-4 4 3.2 26 110 21 SP400,400R/L ]
26-5 5 4.2 26 110 21 SP500,500R/L °
SPB32-2 2 1.6 a2 150 27 SP200,200R/L °
32-3 3 2.4 32 150 o SP300,300R/L °
32-4 4 3.2 32 150 27 SP400,400R/L [
32-5 5 4.2 32 150 27 SP500,500R/L (]
32-6 6 5.2 32 150 27 SP600,600R/L °

BISHIMATERIALS —E*JJ ﬁj] ﬁ
UGHN262 2.2 1.60 26 110 | 21.4 KGT2N,KGT2R/L ]
263 3.1 2.35 26 110 | 21.4 KGT3N,KGT3R/L °
264 4.1 3.20 26 110 | 21.4 KGT4N,KGT4R/L (]
265 5.1 4.00 26 110 | 21.4 KGT5N,KGT5R/L °
UGHN322 2.2 1.60 32 150 | 250 KGT2N,KGT2R/L ]
323 3:1 2.35 a2z 150 | 25.0 KGT3N,KGT3R/L L]
324 4.1 3.20 32 150 | 25.0 KGT4N,KGT4R/L L]
325 5.1 4.00 32 150 | 25.0 KGT5N,KGT5R/L °
lbcma REVEK IR
KTKB19-1SS 1.6 1.2 19 86 | 15.7 TKN1.6, TKR/L1.6 ]
KTKB26-1SS 1.6 1.2 26 L TKN1.6, TKR/L1.6 °
KTKB32-1SS 1.6 1.2 32 150 25 TKN1.6, TKR/L1.6 .
KTKB19-2S B 1-8 19 86 153 TKN2 TKR/L2 °
26-2S 2i2 1.8 26 110 21.4 TKN2, TKR/L2 [
26-3S 3.1 2.6 26 110 21.4 TKN3,TKR/L3 ]
26-4S 4.1 3.4 26 110 21.4 TKN4 TKR/L4 ®
26-55 5 4.2 26 110 21.4 TKN5, TKR/L5 °
KTKB32-2S 2.2 1.8 32 150 25 TKN2,TKR/L2 ®
32-3S 3.1 2.6 ag 150 25 TKN3, TKR/L3 °
32-4S 4.1 3.4 32 150 | 25 TKN4, TKR/L4 °
32-58 5.1 4.2 a2 150 25 TKN5, TKR/LS °
32-6S 6.4 5.4 32 150 25 TKN6, TKR/LB °
KTKBR/L32-8S 8.0 6.8 32 150 25 TKN8, TKR/L8 L]
32-95 9.6 8.0 32 150 25 TKN9, TKR/L9 °
HZ N H

SCTH26-3 3 Pl 2535 110 21.16 GT30 °
26-4 4 3.2 25.14 110 21.05 GT40 ®
SCTH32-3 3 22 31.41 150 24.8 GT30 °
32-4 4 3.2 31.14 150 24.66 GT40 °
32-5 5 12 30.87 150 24.53 GT50 L
32-6 6 5.2 30.61 150 24.39 GT60 L]

m ] i 7) ESMBB i fl &
b 2471 5 FA

,Eﬁ;_

20-26

& ®

20-32 32 | 248 | 20 13 50 | 53 | 100 | 19 | 38 .
SMBB 25-26 26 | 21.4 | 25 5 45 | 40 | 100 | 23 | 42 |M6x30| L5 .
25-32 32 | 248 | 25 8 50 | 53 | 110 | 23 | 42 .
SMBB 32-32 32 | 248 | 32 = 54 | 53 | 110 | 29 | 48 .




B IR /U T Grooving / Cutting-off Holder
SRAAED (ERR) ~

" CopsnLz V]
»éﬁ;@| ERAETNR hj

w

CGBSR/L ' ‘ I
GWCSR/L ]_ LI
& K

& i | [

CGBR/L 1616H32 0.5-2.5 16 16 | 100 | 22 16 20
M3.5x10 T15

2020K32 0.5-2.5 20 20 | 125 | 26 20 25 GBA32R/L HL1808 MLO520 Lo5

2525M32 | 0.5-25 25 25 | 160 | 26 25 32 i

CGBR/L 2020K43 | 1.25-45[ 20 | 20 | 125 | 26 | 20 | 25 | GBA4aR/L125-450
2020K43-1 | 1.25-1.85 20 20 | 125 | 26 20 25 | GBA43R/L125-185 HL1808 M5x12 T20
2020K43-2 | 20-28 | 20 | 20 | 125 | 26 | 20 | 25 | cBA43R/L200-280 ML0520 | L2.5
2020K43-3 | 3.0-45 | 20 | 20 125 | 26 | 20 | 25 | GBA43R/L300-450

CGBR/L 2525M43 | 125-45| 25 | 25 | 150 | 26 | 25 | 32 | GRA43R/L125-450
2525M43-1 | 1.25-1.85| 25 | 25 | 150 | 26 | 25 | 32 | GBA43R/LIZ5-185 | M5x12 | T20
2505M43-2 | 20-28 | 25 | 25 | 150 | 26 | 25 | 32 | cpassmizoozeo 1808 | Miosoo | L2.s
2525M43-3 | 3.0-45 | 25 | 25 | 150 | 26 | 25 | 32 | sgassmisoo-450

CGBSR/LE (HZI#LA )

CGBSR/L1616H32 0.5-25 | 16 | 16 | 100 | 22 | 16 | 20 o e
2020k32 | 05-25 | 20 | 20 |125| 26 | 20 | 25 | GBAs2RAL | HLisos |M3OX101 T15 | g4
2526M32 | 05-25 | 25 | 25 | 150 | 26 | 25 | 32 MLO520 | L25 |4 |,

CGBSR/L 2020K43 125-45| 20 | 20 | 125 | 26 | 20 | 25 M5x 12 T20 e e
2525M43 | 1.25-45| 25 l o5 | 150 | 26 | 25 | ag | SBAMRLIZs0| HL1BOB |\ hepn | 125 e e

WiTsuBisHi =47

MGHR/L 2020K3315 | 1.25-2.3] 20 | 20 [ 125] - | 20 [20.2 o] e
2020K3323 | 23-33 | 20 | 20 [125| - | 20 |202 oo
2525M3315 | 1.25-2.3| 25 | 25 | 150 - | 25 |25.2 MG‘[?{;IE%%TZS HL1B08 n:ﬂsl_.gggou LT2155 p A
2525M3323 | 23-33 | 25 | 25 [ 150 | - | 25 |25.2 : oo
2525M3333 | 3.3-47 | 25 | 25 [ 150 - | 25 [25.2 o | e

MGHR/L 2020K4315 | 1.25-23 | 20 | 20 | 125 | - | 20 |20.2 e e
2020K4323 | 23-33 | 20 | 20 | 125 | - | 20 |202 Mezgﬁgms ol
2020K4333 | 3.3-47 | 20 | 20 |125| - | 20 |20.2 —— gy e e
2525M4315 | 1.25-2.3| 25 | 25 | 150 | - | 25 |25.2 HL1808 | W’ e | |op (SIS
2525M4323 | 2.3-33 | 25 | 25 | 150 | - | 25 |25.2 ’ ° °
2525M4333 | 3.3-47 25 | 25 |150 | - | 25 252 o o
2525M4447 | 4.7-6.3 25 25 | 150 = 25 | 25 .2 | MGTA/L44500-44600 e e

Bsumitomo {417

GWCR/L 1010-3 0.33-2.80, 10 125 | A7 10 10
1212-3 0.33-2.80, 12 12 | 126 | 17 12 12
1616-3  [033-280 16 | 16 125 | 17 | 16 | 16 | TGARL30S3 |y 4g0g MSSX101 T15
2020-3 0.33-2.80| 20 | 20 (125 | 17 | 20 | 20 ’
2525-3 0.33-2.80| 25 25 | 150 | 17 25 25

GWCR/L 2020-15 1.00-1.45| 20 | 20 | 125 | 17 | 20 | 20 |TGAR/L4125-4145
2020-25 |1.50-2.30| 20 | 20 |125| 17 | 20 | 20 |TGARL4150-4230 ]
2020-35 2.50-4.80| 20 | 20 | 125 | 17 | 20 | 20 |TGAR/L4250-4480 M5 x 12 T20 |
2525-15 1.00-1.45| 26 | 25 | 150 | 17 | 256 | 25 |TGAR/L4125-4145| HL1808 ML0520 L2 5
2525-25 1.50-2.30| 25 25 | 150 | 17 25 25 | TGAR/L4150-4230 '
2525-35 |2.50-4.80] 25 | 25 | 150 | 17 | 25 | 25 | 1gam/iL4250-4480

GWCSR/LE (H7#HL.A )

i
o

@ & & & & & & & 0 8 0
® @ & & & o ® @& & ® 0

GWCSR/L 2020-3 U.33—2.BO| 20 20 (125 - 20 20 TGAR/L3033 HL1808 M3.5x10 T15 e @
2525-3 0.33-2.80| 20 20 | 150 - 20 20 -3280 ML0O520 L2.5 e o
GWCSR/L 2020-15 |1.00-1.45| 20 | 20 | 125 | - 20 | 20 | TGAR/L4125-4145 e @
2020-25 1.50—2.30| 20 20 | 125 - 20 20 | TGAR/L4150-4230 e e
2020-35 |2.50-4.80 20 | 20 | 125 | - 20 | 20 | TGAR/L4250-4480 ME i 45 +50 e o
2525-15 |1.00-1.45 25 | 25 [150 | — | 25 | 25 | TGAR/ILe125-4145| HL1808 Miotoo | Los S
2525-25 |1.50-2.30] 25 | 25 [ 150 | - 25 | 25 | TGAR/L4150-4230 ’ e |
2525-35 | 2.50-4.80, 25 | 25 [150 | - 25 | 25 | TGAR/L4250-4480 e o




W VIR /I JIA Grooving / Cutting-off Holder
SRNKED (Efst)

ShEET

" Bicers v

'

CTGFR/L '

CTGFR/L1010F-16 | 0.33-2.5 | 10 | 10 | 80 [18.5| 10 | 12
1212H-16 | 0.33-25 | 12 | 12 | 100 | 18.5| 12 | 16
1616H-16 | 0.33-2.5 | 16 | 16 | 100 | 18.5| 16 | 20 TGF32R/L | HL1808
2020K-16 | 0.33-25 | 20 | 20 | 125| 20 | 20 | 25
2525M-16 | 0.33-2.5 | 25 | 25 | 150 | 20 | 25 | 32

M4 x 7 T15
ML0520 L2.5

e ® @ 0 @
o & @ @ 0

sk (ADFEREEA ) -
CTGFR/L0808H-16F | 0.33-2.5 8 8 100 |18.5| 8 8

1010K-16F | 0.33-25 | 10 | 10 | 125 [18.5| 10 | 10 | M4 x 7 T15
1212K-16F | 0.33-25 | 12 | 12 | 125 |18.5| 12 | 12 | TGF32RL | HLIBOB | \\ hoon | |25
1212M-16F | 0.33-2.5 | 12 | 12 | 150 [18.5| 12 | 12 |
1616K-16F | 0.33-25 | 16 16 | 150 | 18.5| 16 16

CTGFSR/LE (HE7I4LA )

® & & @ @
e e o @ @

CTGFSR/L1616H-16 | 0.33-25 | 16 16 | 100 | 18.5| 16 20 M4 x 7 T15 L]
2020K-16 | 0.33-2.5 | 20 20 | 125 | 20 | 20 25 TGF32R/L HL1808 MLO520 L25 Ll IR
2525M-16 | 0.33-2.5 | 25 25 | 150 | 20 | 25 32 . ° e




B U1/ U1 T

=RNAE7 (BER)

Grooving / Cutting-off Holder

m SGBR/LE!/SGBSR/LE

[Ekyocera

ShEEN

~ SGBR/L1616H32 0.33-2.5

SGBR/L

el
SGBSR/L

-

—

= -
sl &
B
[ 1
| L "
L1 |

o

f

16 20 | @

2020K32 0.33-25| 20 | 20 |125| 26 | 20 | 25 GBA32R/L M4 x10 T15 °| e
2525M32 0.33-25| 25 25 150 | 26 25 32 ° | e
SGBR/L 2020K43 1.25-45| 20 20 | 125 | 26 20 25 | GBA43R/L125-450 LI
2020K43-1 | 1.25-1.85| 20 20 125 | 26 20 25 | GBA43R/L125-185 ® e
2020K43-2 | 2.0-28 | 20 | 20 | 125 | 26 | 20 | 25 | GBAwsRizoozso| MIX12 120 oo
2020K43-3 3.0-45 | 20 20 | 125 | 26 20 25 | GBA43R/L300-450 e | e
SGBR/L2525Md43 | 125-45| 25 | 25 | 150 | 26 | 25 | B2 | GBA43RIL125-450 o | e
2525M43-1 | 1.25-1.85| 25 25 | 150 | 26 25 32 | GBA43R/L125-185 e | e
2525M43-2 | 2.0-28 | 25 | 25 | 150 | 26 | 25 | 32 [Geassmizoozen| MOX12 = oo
2525M43-3 3.0-45 | 25 25 | 1560 | 26 25 32 | GBA43R/L300-450 e | e

SGBSR/LE (HEZA#LA )

SGBSR/L1616H32 0.5-2.5 16 16 | 100 | 22 16 20 (I
2020K32 0.5-2.5 20 20 | 125 | 26 20 25 GBA32R/L M4x10 T15 [
2525M32 0.5-25 | 25 25 | 150 | 26 25 32 e @

SGBSR/L2020K43 | 1.25-45| 20 | 20 [ 125 | 26 | 20 | 25 | gpasamiezsaso M5 x 12 720 o
2525M43 1.25-45| 25 25 | 150 | 26 25 32 e @

B KTGFR/LA

E_iocsnaj

KTGFR/L

hEHET

KTGFSR/L

KTGFR/L1010F-16 | 0.33-2.5 10 | 80 |18.5 | *| o
1212H-16 | 0.33-25| 12 | 12 | 100 |18.5| 12 | 16 | e o
1616H-16 | 0.33-25| 16 | 16 | 100 |18.5| 16 | 20 | TGF32R/L M4 x7 T15 o e
2020K-16 | 0.33-2.5| 20 | 20 | 125| 20 | 20 | 25 | o o
2525M-16 | 0.33-25| 25 | 25 | 150 | 20 | 25 | 32 | e o

KRk ( BBEREER)

KTGFR/LO808H-16F  0.33-25| 8 8 | 100 [18.5] 8 8 oo
1010K-16F | 0.33-25| 10 | 10 | 125 |18.5| 10 | 10 \ o o
1212K-16F | 0.33-25| 12 | 12 | 125 |18.5| 12 | 12 TGF32R/L M4 x7 T15 ale
1212M-16F | 0.33-25| 12 | 12 | 150 |18.5| 12 | 12 | oo
1616K-16F = 0.33-25| 16 | 16 150 |18.5| 16 | 16 | e o

CTGFSR/LE! ( H7I#LA )

KTGFSR/L1616H-16 | 0.33-25| 16 | 16 | 100 [18.5] 16 | 20 o
2020K-16 | 0.33-25| 20 | 20 | 125 | 20 | 20 | 25 TGF32R/L M4 x 7 T15 o e
2525M-16 | 0.33-25| 25 | 25 | 150 | 20 | 25 | 32 e

HEZVET

JSTGR/L1010K3 0.33-3.0] 10 | 10 [ 125 [18.5] 10 [ 10 o e
1212K3 0.33-3.0 12 12 125/ 18.5] 12 12 JTGR/L3 M4 x7 T15 ® | o
1616K3 0.33-30| 16 | 16 | 125 |18.5| 16 | 16 o




W UIE /U1 IR Grooving / Cutting-off Holder
ZRNAET (ER)

m S-KTGF&! t -
OCERd .\—", __\ijg
e B-XTE oy Y=

ER/NHF

S$12M-KTGFL16

6 g9 oG
S14H-KTGFL16 140 |100| 6 | 9 |13.0]| 27 | 13 oo
S15F-KTGFL16 15875 | 85 | 6 | 9 |14.6| 27 | 15 ol o
S16F-KTGFL16 160 | 8 | 6 | 9 |14.6| 27 | 15 oo
S19G-KTGFL16 19.05 | 90 | 6 [10.5|17.6| 27 | 17 ol o
S19K-KTGFL16 19.05 | 120| 6 |10.5[17.6| 27 | 17 TGF32R Md x 7 T15 oo
S20G-KTGFL16 20.0 90 | 6 |11.0/18.6| 27 | 18 oo
S20K-KTGFL16 200 |120| 6 |11.0|/186]| 27 | 18 oo
$25.0H-KTGFL16 250 |100| 6 |14.0|23.6| 32 | 23 olo
$25K-KTGFL16 254 | 120| 6 |14.0/23.6| 32 | 23 oo

B AILEEE 02

GWCIR/L325 . TGAL/R3

GWCI R/L 432 3 | 250| 30 | 23 | 32 | 30 | 3.0 TGAL/R4 M5x 12 T20 NI
RZAILDEN
S25R-SGTR/L16 25 200| 30 [17.5] 25 23 2.5 GBL/R32 M4 x9 T15 LI
S32T-SGTR/L22 32 | 250| 30 | 23 | 32 | 30 | 3.0 GBL/R43 M5 x 12 T20 D
RERNILEN

S20R-STGFR/L3 20 [200] 30 [145 20 | 19 | 25 o[

$255-STGFR/| 25 | o50| 30 [17.5 25 | 23 | 25| TGFWR2 MAxa T15 sl

S32T-STGFR/L43 32 | 300| 30 23 32 | 30 | 3.0 | TGFL/R43 M5 x 12 T20 ol
" B s
hEiEN ‘L :[

SMR1616R/L-2 16 16 100 | 26 16 18

2 MRMN200 o
SMR1616R/L-3 20 | 20 | 100 | 30 | 16 | 19 | 3 ki sl o e
SMR2020R/L-3 20 | 20 | 125| 30 | 20 | 23 | 3 ol
SMR2525R/L-3 25 | 25 | 150| 30 | 25 | 28 | 3 | MRMN300 ol
SMR3232R/L-3 32 | 32 | 170] 30 | 32 | 35 | 3 oo
SMR2020R/L-4 20 | 20 | 125| 30 | 20 | 24 | 3 ol
SMR2525R/L-4 25 | 25 | 150 | 30 | 25 | 29 | 3 | MRMN400 oo
SMR3232R/L-4 32 | 32 | 170| 30 | 32 | 36 | 3 oo
SMR2020R/L-5 20 | 20 | 125 | 30 | 20 | 25 | 4 M6 x 22 L5 ol
SMR2525R/L-5 25 | 25 | 150 | 30 | 25 | 30 | 4 | MRMN500 ol
SMR3232R/L-5 32 | 32 | 170 30 | 32 | 37 | 4 oo
SMR2525R/L-6 25 | 25 | 150 | 30 | 25 | 31 | 4 o
SMR3232R/L-6 32 | 32 | 170 30 | 32 38 | 4 | MRMNGOO oo
SMR2525R/L-8 25 | 25 | 150 | 30 | 25 | 33 | 5 ol
SMR3232R/L-8 32 | 32 | 170] 30 | 32 | 40 | 5 iy o




B UIFE /D)W TIA Grooving / Cutting-off Holder
WL A FLET)

®m MGIVR/LE!

AKORLOY

sShiztEn

16 | 12.4 | 180 35 14.8

MGIVR/L2016-1.5 °| e
2520-15 { 15|35 20 | 14 | 200 | 45 | 18.4| MGMN150 M4 x 15 L3 °|e
2925-15 | 1.5 35| 25 |17.25 250 | 45 | 23.4 °|e

MGIVR/L2016-2 | 2 | 45| 16 | 12.4| 180 | 35 | 14.8 — & ° e
2520-2 | 2 45| 20 | 14 | 200 | 45 | 18.4  MGMN200 - oo
29252 | 2 | 45| 25 |17.25 250 | 45 | 23.4 M5 x 20 L4 ° e

MGIVR/L2016-25 | 25 | 45| 16 | 12.4 180 | 35 | 14.8 i o 5E T o e
2520-25 | 25| 45| 20 | 156 | 200 | 45 | 18.4| MGMN250 o |
2925-25 |25 45| 25 | 18.9| 250 | 45 | 23.4 M5 x 20 L4 °| e

MGIVR/L2016-3 | 3 | 5 | 16 | 14.5| 180 | 35 | 14.8 K
2316-3 3| 6 | 16 | 156 180 | 35 | 14.8 M4 x 15 L3 oo
25203 | 3| 6| 20 [ 156 200 | 45 | 18.4| o0 e
3125-3 3 | 6| 25 |18.9| 250 | 45 | 23.4 oo
37323 | 3 | 6 | 32 | 21.5| 300 | 45 | 30 MB %20 L4 o|e

MGIVR/L 2520-4 4 | 6 | 20 [ 156 200 | 45 | 18.4 oo
3254 | 4 | 6 | 25 | 189 | 250 | 45 | 23.4 mgngg M5 x 20 L4 oo
3732-4 4 | 6 | 32 | 21.5| 300 | 65 | 30 oo

MGIVR/L3125-5 | 5 | 8 | 25 | 19.4| 250 | 45 | 23.4| MGMN500 — Lk o[ e
3732-5 5 | 8| 32 | 215|300 | 65 | 30 MRMN500 °|e

MGIVR/L3125-6 | 6 | 8 | 25 | 19.4| 250 | 45 | 23.4| MGMN600 —— 5 ol
3732-6 6 | 8 | 32 | 215|300 | 65 | 30 MRMN600 oo

MGIVR/L3732-8 | 8 | 10 | 32 [ 235 300 | 65 | 30 | MGMNBOO —T r oo
4540-8 8 | 10| 40 | 272|350 | 70 | 38 MRMN800 oo

Eocsna, RERAILDEN

KIGMR/L2016B-3V | 3 |5.5 | 16 | 11.56 | 1560 | 25 | 15 —— P o o
2520B-3V | 3 |6.0 | 20 | 14.5| 180 | 32 | 18 |GMM30, GMG30 : S
3225B-3V | 3 |8.0| 25 | 19 | 200 | 40 | 23 M6 x 25 L5 e o

KIGMR/L3225B—4V | 4 |85 | 25 | 19 | 180 | 40 | 23 | GMM40,GMG40 — - e .
4032B-4V 4 [(11.0| 32 23.5 | 200 50 29 |GMM50, GMGS50 LN ]

=
Gy TaeguTec FFEIEAILYIIET]

TTIR/L 16-2C 2 [85] 16 [ 165 125 | - 15 R M4 x 15 L3 o e
20-2C 2 |60 20 | 158|160 | 40 | 18 T8C2 e o
25-2C 2 |50 25 | 17.5| 200 | 40 | 23 TDJ2 e L4 o|e

TTIR/L 20-3C 3 |60 20 | 158 160 | 40 | 18 o o
25-3C 3 5.1 25 17.5 | 1200 40 23 ngs e |
32-3C 3 |47 32 [ 198|250 | 60 | 30 T8C3 o o

TTIR/L25-3C-T8 | 3 | 8 | 25 | 21.5| 200 | 40 | 23 T Na L o o
32-3C-T10 | 3 |10 | 32 | 27 |250 | 60 | 30 TDT3 o o
40-3c-T12 | 3 |12 | 40 | 33 | 300 | 65 | 38 o o

TTIR/L 20-4C 4 |6.0 20 | 158 | 160 | 40 | 18 o o
25-4C 4 |52 | 25 | 175|200 | 40 | 23 o o
32-4C 4 |47 | 32 208|250 | 60 & 30 ——— o o

TTIR/L25-4C-T8 | 4 | 8 | 25 | 215|200 | 40 | 23 ToJs. Toxud ~ M5x20 L4 o .
32-4C-T10 | 4 | 10 | 32 27 | 250 | 60 30 T0T4 e o
40-4C-T12 | 4 |12 | 40 | 33 | 300 | 65 | 38 oo
50-4C-T14 | 4 |14 50 | 40 | 350 | 70 | 48 e o

TTIR/L 25-5C | 5 |52 25 | 17.3] 200 | 40 | 23 D
32-5C 5 |47 32 | 208|250 | B0 | 30 o o

TTIR/L32-5C-T10 | 6 | 10 | 32 | 27 | 250 | 60 | 30 | T°C% T80s Tois  MEx 25 L5 e e
40-5C-T12 | 5 |12 | 40 | 33 | 300 | 65 38 e o
50-5C-T14 | 5 | 14 | 50 | 40 | 350 | 70 | 48 | e

TTIR/L 32-6C 6 |47 32 | 208|250 | 6O | 30 o o

TTIR/L 32-6C-T10 | 6 10 32 27 250 60 30 TDC8, TSCE, TDJB M6 x 25 L5 e o
40-6C-T12 | 6 |12 | 40 | 33 | 300 | 65 38 L s " o o
50-6C-T14 | 6 | 14 | 50 | 40 | 350 | 70 | 48 o | e

TTIR/L 32-8C 8 5.5 32 21.3 250 60 30 TDC8, TSC8 M6 x 25 L5 L] L]
40-8C | 8 |58 | 40 | 258|300 | 65 | 38 TOXUB. TDT o o




W UIRE /U1 T Grooving / Cutting-off Holder

WA FLIET

E CGWR/LHE N

ShEEn

$160-CGWR/L3 = 1.1-3. 16 | 11

S20R-CGWR/L3 | 1.1-3.0 | 20 | 13.5| 200 | 22 | 18.4
§258-CGWR/L3 | 1.1-3.0 25 | 17 | 250 | 22 | 23.4 GW110-300R/L
$32T-CGWR/L3 | 1.1-3.0 | 32 | 21.5| 300 | 32 | 30

S40U-CGWR/L3 | 1.1-30 40 27 | 250 | 32 | 38

S$255-CGWR/L5 | 3.15-5.0 | 25 2 250 22 23.4 HLISIC! | MLO520 K22

$32T-CGWR/L5 3.15-5.0| 32 | 21.6| 300 | 32 30 | GW315-500R/L
S40U-CGWR/L5 | 3.15-5.0 40 | 27 | 350 | 32 | 38
S32T-CGWR/L8 | 6.0-8.0 | 32 | 21.5| 300 | 32 30
S40U-CGWR/L8 | 6.0-8.0 | 40 | 27 | 350 | 32 38

[SUBISHI = 3% iy 7L.£) & 7)

GW600-800R/L

HIMATERIALS

FCDG 4120R/L3M 3 20 | 13 [ 180 | 32 18 oo
4125R/L3M ( 3 25 | 17 2oo| 40 | 23 DGM30CT HL1810 | ML0520 25 |e|e
~ 4132R/13M | 3 32 | 22 | 250 | 50 | 30 o o
FCDG 4120R/LAM | 4 20 13 | 180 | 32 18 — e | e
4125R/LAM 4 25 | 17 | 200 | 40 | 23 e HL1810 | MLO520 25 |e|e
4132R/LAM | 4 s2ii2z 250| 50 | 30 | e
RENILEN

GVR/L 1216-1SS T2.2 16 | 6.0 | 150 | 20 15 [ HL1810A MA LA oo
1420-1S T2.2 20 | 70| 150 | 24 19 .| o
1620-1A T2.2 20 | 80 | 160 | 28 19 oo
2025-18 Tos | 25 | 10.0| 180 | 35 | 23 HL18108 | MB LB | ole
2025-2B T3.2 25 | 10.0| 180 | 35 23 e | o
2532-1C T4.5 32 | 125| 200 | 43 | 30 GVR/L e | e
3232-1C T4.5 32 | 16.0| 220 | 52 30 o | e
4032-1C T4.5 32 | 21.0| 250 | 43 | 30 oo
2532-2C T5.5 32 | 125| 200 | 43 | 30 HL1810C | MC LC o]
3232-2C T5.5 32 | 16.0| 220 | 52 | 30 o | e
4032-2C T5.5 32 | 222 250 | 43 | 30 e e




B UIFE /W TIA Grooving / Cutting-off Holder

PA
NERFLIET)
m SNGR/L# B
e o= | @
REE7
TREe R =Fpimensions 7 iinsert
Orderingeode Tmax | ed | F | L1 | L | H ‘

S08H-SNGR/L06 2 8 | 47| 15 | 100 | 7 BGR/L ,

S08H-SNGR/L0O7 | 2 | 8 58 | 15 | 100 | 7 — o

S10K-SNGR/L07 2 10 | 6.8 | 15 | 125 8 | .

S10K-SNGR/LO8 | 35 | 10 | 7.6 | 20 | 125 | 8 oo

S12M-SNGR/L08 35 12 | 86 | 20 | 150 11 aEkL Mz h%g T8 o«

S160-SNGR/LOS | 35 | 16 | 11.6| 20 | 180 | 14.8 aGRIL oo

S20R-SNGR/L09 3.5 20 | 13.6| 20 | 200 | 18.4 e

‘;j(uocena RERILEN

SIGER/L 0808A-EH 1.5 8 | 48] 20 [ 100 | 7.2 |somiecscncoroos] M2.0x4.5 T6 oo
101OB_EH 22 ‘ 1 0 62 25 | 1 25 9 | GER/L100-005B -200-0108 . .

L 121OB—EH 22 1 O 7 30 1 25 g GER/L100-0058R-200-010BR M22 X 4 T7 e ®

SIGER/L 1412C-EH | 25 | 12 8 33 | 150 | 11.4 | oo
1612C-EH 2.5 12 | 8.5 | 20 | 150 | 11.4 | cmmmseanont | \o 5xp T8 o o
1616C-EH | 25 | 16 9 | 86 | 160 | 15 |seruioo-conca-z0-oince o o

SIGER/L 2020D-EH 4.5 20 | 12.1] 40 | 180 19 M3.0x 8 T10 o o

SIGER/L 2525E-EH | 65 | 25 | 15.6| 45 | 200 | 24 | o o
3232E-EH 6.5 32 | 19 | 55 | 220 | 30.4 | Ssum-omEsoocme | pig g T15 o o
4032E-EH | 65 | 32 | 23 | 45 | 250 | 30.4 | e o




W UIE /W T Grooving / Cutting-off Holder

i @ 18 7)
BFGHH/FGVHE!
AKORLOY'| - |
w7 P
l FGVHE!

FGHHE!

FGHH320R-25/30 ; 125 20

L ] [ ]
30/35 12 30 | 35 |206| 125 | 20 | FMM300R-03 M5 x 20 L5 o | e
35/48 12 35 | 48 | 206 | 125 | 20 o | o
48/60 22 48 | 60 | 206 | 125 | 20 o e
60/75 22 60 | 75 | 206 | 125 | 20 | FGD300R-03 WS s i P
75/100 22 75 | 100 | 206 | 125 | 20 | FGM300R-03 o | o
100/140 22 | 100 | 140 | 206 | 125 | 20 P
325R-25/30 12 25 | 30 | 256 | 150 | 25 o | o
30/35 12 30 35 | 25.6| 150 | 25 | FMM300R-03 M5 x 20 L5 L
35/48 12 35 | 48 | 256 | 150 | 25 o | e
48/60 22 48 | 60 | 256 | 150 | 25 )
60/75 22 60 | 75 | 256 | 150 | 25 | FGD300R-03 o |
75/100 22 | 75 | 100 | 25.6 | 150 | 25 | FGM300R-03| M5x20 L5 oo
100/140 22 | 100 | 140 | 256 | 150 | 25 o | e
420R-25/30 12 25 | 30 | 206 | 125 | 20 P
30/35 12 30 35 | 206 | 125 | 20 | FMM400R-04 M5 x 20 L5 e o
35/48 A2 35 | 48 | 206 | 125 | 20 o | ®
48/60 25 48 | 60 | 206 | 125 | 20 | o
60/75 25 | 60 | 75 | 20.6| 125 | 20 | FGD400R-04 e o
75/100 25 75 | 100 | 206 | 125 | 20 | FGM400R-04|  M5x20 L5 P
100/140 25 | 100 | 140 | 206 | 125 @ 20 P
425R-25/30 12 25 | 30 | 256 | 150 | 25 oo
30/35 12 30 35 | 25.6 | 150 25 EMM400R-04 M5 x 20 L5 e o
35/48 12 35 | 48 | 256 | 150 | 25 P S
48/60 25 48 | 60 | 258 | 150 | 25 PR
60/75 25 60 | 75 | 256 | 150 | 25 | FGD400R-04 — B P
75/100 25 75 | 100 | 25.6 | 150 | 25 | FGM40DOR-04 o | e
100/140 25 | 100 | 140 | 256 | 150 | 25 o | o
520R-25/30 12 25 | 30 | 206 | 125 | 20 P
30/35 12 30 | 385 | 206 125 | 20 o | o
35/40 20 35 40 | 206 | 125 | 20 | FMM500R-04 MReg L2 P
40/48 20 40 | 48 | 206 | 125 | 20 o | o
48/60 25 48 | 60 | 206 | 125 | 20 | o
60/75 265 | 60 | 75 | 20.6| 125 | 20 | FGD500R-04 oo
75/100 25 | 75 | 100 | 20.6 | 125 | 20 | FGM500R-04| M5x20 LS .| ®
100/140 25 | 100 | 140 | 2056 | 125 | 20 P
525R-25/30 12 25 | 30 | 25.6 | 150 | 25 PR
30/35 12 30 | 35 | 256 | 150 | 25 o| o
35/40 | 20 | 35 | 40 |25.6| 150 | 25 | FMMS500R-04 M5 x20 - o o
40/48 | 20 40 | 48 | 256 | 150 | 25 o e
48/60 25 48 | 60 | 256 | 150 | 25 *| »
60/75 | 25 | 6o | 75 | 256 | 150 | 25 | FGDSO0R-04 oo
75/100 25 | 75 | 100 | 25.6 | 150 | 25 | FGMSOOR-04| ~ M5x20 L3 5|
100/140 | 25 | 100 | 140 [ 256 | 150 | 25 | e
FGVHEEAFHERIRAVA*EEENAFHER
FGVH320R-25/30 12 25 | 30 | 206 125 | 20 | ®
30/35 | 12 | 80 | 85 |20.6| 125 | 20 | FMM300R-03| M5x20 L5 e
35/48 [ 12 35 | 48 | 20.6| 125 | 20 PR
48/60 [ 22 48 | 60 [256 | 125 [ 20 o e
60/75 22 60 | 75 | 256 | 125 | 20 | FGD30D0OR-03 N s i o | s
75/100 | 22 | 75 | 100 | 25.6 | 125 | 20 | FGM300R-03 o|®
100/140 22 | 100 | 140 | 25.6 | 125 | 20 P
325-25/30 12 25 | 30 |20.6| 150 | 25 | e
30/35 12 30 | 35 |20.6| 150 | 25 | FMM300R-03 M5 x 20 L5 e o
35/48 12 | 35 | 48 | 206 | 150 | 25 oo
48/60 22 48 | 60 | 25.6 | 150 | 25 PR
60/75 22 | 60 | 75 |25.6| 150 | 25 | FGD30OR-03 o .
75/100 22 | 75 | 100 | 25.6 | 150 | 25 | FGM300R-03| M5x20 L5 oo
100/140 22 | 100 | 140 | 256 | 150 | 25 o e




B 2L ETIM Threading Holder

B SER/LE! . g j
SHEBYET §
L1 5 *|
_yo
.
L ]
SER/L1010H11 10 | 10 | 100 | 16 | 10 | 12 oo
SER/L1212H11 120 z| eol [tz e 1ERL- i T8 |es
SER/L1212H16 12 | 12 | 100 | 20 | 12 | 18 ol
SER/L1616H16 16 | 16 | 100 | 20 | 16 | 20 oo
SER/L2020K16 20 | 20 125 | 22 | 20 | 25 | 16ER/L.. | orio%R | M35x12| M3x8C | Ti5 | e e
SER/L2525M16 25 | 25 | 150 | 22 | 25 | 32 ol
SER/L3225P16 32 | 32 170 | 25 | 32 | 32 ol
SER/L2525M22 25 | 25 | 150 | 26 | 25 | 32 STM22T3R T20 |e|e
ey 55 | 3> | 190 | 28 | 35 | a9 | 22ERL. | Shiora |M45x12| M3x8C | i | .1,
B B-SER/LE r
A N /
1

iy

B-SER/L1010H16 10 10 | 100 20 10 18

L] [ ]
B-SER/L1212H16 | 12 | 12 | 100 | 20 @ 12 | 18 ol
B-SER/L1616H16 | 16 | 16 100 20 | 16 | 20  16ER/L. | givjoot | M3.5x12 M3x8C | T15 |e @
B-SER/L2020K16 | 20 | 20 | 125 | 22 | 20 | 25 o|®
B-SER/L2525M16 | 25 | 25 | 150 22 | 25 | 82 oo

B VTHH
23 )]
HNERGET

VTHR 1212H16 | 12 12 | 100 | 20 12 16 |
VTHR 1616H 16 | 16 16 | 100 | 20 16 20
VTHR 2020K 16 | 20 20 | 125 | 22 20 25
VTHR 2525M16 | 20 20 | 1256 | 28 20 25

VTER16 M4x10 T156




W BT Threading Holder

m SNR/LE!
HEBLET

TR R fpimensions i LT s *ﬁ“‘ Stock
v & &8
Sl op | od| t [ L [uLi][H [ o | & (=2 R|L
SNR/L0007J08 10 7 | 55 | 110 | 16 6 5 ] ° o
SNR/L000BK0S 11 8 D T R R R | MaEx5 o |®|
SNR/LOD10K11 13 | 10 | 7.2 | 125 | 18 9 e °|
SNR/L0012M11 15 | 12 | 87 | 150 | 18 | 11 5 e e
SNR/L0O0T3N11 16 | 13 s | 160 | 20 | 12 | 18 |1INRL. s MeBer Ha P |
SNR/L0O014N11 16 | 14 9 | 160 | 20 | 13 , & ] I oo
SNR/L0O013N16 16 | 13 9 | 160 | 20 | 12 7 e 0|
SNR/L0014N16 16 | 14 9 | 160 | 20 | 13 e e
SNR/L0016Q16 19 | 16 | 115 | 180 | 25 | 146 P s B d L)
SNR/L0020R16 24 | 20 | 135 | 200 | 28 | 184 | 15° | 16NR/L.. | L o | o |
SNR/L0025516 29 | 25 | 18 | 250 | 32 | 234 ° e |
SNR/L0032T16 3 | 32 | 195 | 300 | 38 | 30 STMHB03R oo
SNR/L0040T16 44 | 40 | 235 | 300 | 42 | 38 STMisoaL | M3-5x 121 T15 | M3xBC/| 4 | o
SNR/L0050U16 54 | 50 | 285 | 350 | 50 | 48 oo
SNR/L0025S22 31 25 | 18 | 250 | 32 | 234 i ° e |
SNR/L0032T22 38 | 32 | 215|300 | 38 | 30 5 STM1603R | oo
N LOSaITSS 46 20 | 255 | 300 | 42 | as | 15° |22NR/L. Smwieoal M45x12) 0 | M3x8C| | g
SNR/L0050U22 50 | 305 | 350 | 50 | 48 | oo
Eﬁﬂﬁ%iﬁ!ﬁﬁﬂﬂﬂﬂ?ﬂ . o —
SIR0005H-06C-6.4 LS 4.3 100 [ - 4.5 / OBNRI/L.. /[ M2x4 16 o |®
SIR0008K-08C-09-20 9 ) 5 125 | 20 7 / / 1| L LS
SIR0008K-08C-10-20 | 10 8 | 55 | 125 | 20 7 /| 08NRIL.. / |M22%5| T6 /el e
SIR0008K-08C-10 10 g8 | 50 | 125 - 7 / / [ |e e
SIR0010M-11C-12 12 10 | 7.4 | 150 = 9 / / / e
e e 12 LEE Lm0 | = 11|/ TINRL.. | y M25x6| T8 | /) |e e
SIR0016M-16C-19 19 | 16 | 11.7 | 150 | - | 146 | | / -
SIR0016R-16C-19 19 | 16 | 11.7 | 200 | - | 146 | / / / ° o
SIR0020R-16C-24 24 | 20 | 137 | 200 | - | 184 |/ 16NR/L...| M3.5x10| T15 | / oo
SIR0020S-16C-24 24 20 | 13.7 | 250 s 18.4 |/ J s & | &
SIR00255-16C-29 29 | 25 | 162 | 250 | - | 234/ / / s|e
® SNR/LE =
REBRYET

TR S R “FDimensions Akiinsert .

: i st ) 1

Orderingcode oD ed| f [ L [L|H [ 4 & : RIL

SINR/LOG12K06-15 | 6.4 | 12 | 4.3 | 125 | 12 | 11 OBNRL. | M2.0x4 T6 K

SNR/L0B16K08-18 8 | 16 | 5 | 125| 18 | 14.6 | 08NRIL. M2.2x5 T7 oo

SNR/LOOTOKT1-AT6 | 12 | 16 | 7.2 | 125 | 20 | 14.6 ' « e
. ) : T

SNR/LOOT2M11-A16 | 15 | 16 | 8.7 | 150 | 25 | 146 > | 'NAL L 8 oo

SNR/LOOISN16-A16 | 16 | 16 | 10 | 160 | 25 | 14.6 3D
: T1

SNR/L1516M16-A16 | 15 | 16 | 8.5 | 150 | 30 | 14.6 TR i > oo




B EE8RETIH OTHERS

mSCLNE
5B FH

B SDLN#
e

;

SCLNR1010K-07FF
1212F-07FF
1212K-07FF
1616K-07FF

CN..0703..

SDLNR1010K-08FF
1212F-08FF 12 12 85 18 12 12
1212K-08FF 12 12 125 18 12 12
1616K-08FF 16 16 125 18 16 16

DN..0803.. T8 M3 x8

m STLNE L } m JSTACR/LE
B _ ShE

STLNR1010K-09FF 10 10 125 15 10 10
1212F-09FF 12 12 85 15 12 12
1212K-09FF 12 12 125 15 12 12
1616K-09FF 16 16 125 15 16 16

TN..0903.. T8 M2.5x7

® o 9 @

JSTACR/L0808K08 8 8 | 100 | 10 | 8 8 ° | o
1010K08 10 | 10 | 100 | 10 | 10 | 10 | TC-0802. T8 M2.2x8 |gulve
1212K11 12 | 12 | 100 | 12 | 12 | 12 o | o
e S o e ) TCL1102.. T8 M2.5x7 | o | o |

. W JSDJ2CR/LE
SMEEH

® JSCL2CR/LE
ShEI%H|

LR
- fw
T

an®
Efam00

JSCL2CR/L0808K06 8 8 125 10 8 8
1010K06 10 10 125 10 10 10
1212K06 12 12 125 13 12 12
JSCL2CR/L1010K09 10 10 125 13 10 10
1212K09 12 12 125 13 12 12 CC..09T3.. T15 M4 x10
1616K09 16 16 125 13 16 16

CC..0606.. T8 M2.5x7

JSDJ2CR/L0808KO7 8 8 125 15 8 8
1010K07 10 10 125 15 10 10 DC..0702.. T8 M2.5x7
1212K07 12 12 125 15 12 12

JSDJ2CR/L1010K11 10 10 125 22 10 10
1212K11 12 12 125 22 12 12 DE.11TA.. T15 M4 x 10
1616K11 16 16 125 22 16 16

o FRARENABDFERKITH, ZH7-15K,

H-50




B SRETIH

OTHERS

m JSVJZBR/LE!
JSVJ2CR/LE!

PY-ET I S

JSVJ2BR/L0808K11 8 8

| R |

g -+ W JSDN3CR/L

ShEEH

125 20 8 8 (] e

101011 | 10 | 10 | 125 | 20 | 10 | 1o s

1212K11 | 12 12 | 125 | 22 | 12 | 12 VB-1108 T8 | M25x8 [T,

1616K11 | 16 | 16 | 125 | 22 | 16 | 16 o | o
JSVJ2CR/L0808K11 | 8 8 | 125 20 | 8 8 o | &
1010k11 | 10 | 10 | 125 | 20 | 10 | 10 s

T ARTRAR AL AE AT AR L T8 | M25x6 | o | o

1616K11 | 16 | 16 | 125 | 22 | 16 | 16 T

JSDN3CR/L1212K07

DC..0702..

1616K11 | 16 | 16 | 125 | 15 | 16 | 25 | DC..11T3. T15 | M3.5x10| o | ®
B TFTRE  =puognssREsmn Ry
la L |
,, = 1= TETR10 o TF3300R 0
| 5 TETR12  |®12/12 TF3305R| 0.05
v 1= TFTR16 | ®/16/16 TF3315R 0.15
BEEEAX oflayg |- BT R TFTR20 ®20(20 TF3320R|0.20
m TTPH!
RO EHMT ! :
NTK TTPR/LOB 4
"1_ . 10 10 | 10 | 120 | 2
A 4 12GX | 12 | 12 | 85 0 TTP..| Ti5 M4 x10
12 12 | 12 | 120 | o
—_l 16H 16 16 100 0
16 16 16 120 0
20F | 20 | 20 | 80 | 0

B REABSEEHIA W

m SABS-40F®!
EEZFHMI

H1

SABSR 0810K-40F 8 10 125 42 | 10.2 °
1010K-40F 10 10 125 - 4.2 | 10.2 .
1212F-40F 12 12 85 = 42 | 12.2 ABS15R.. T20 M4.0x8 °
1212M-40F 12 12 150 - 455 bis .
1616M-40F 16 16 150 _ 4.2 | 16.2 .
2020K-40F 20 20 125 _ 4.2 | 20.2 ®

SABWR 0810K-40F 8 10 125 _ 4.2 | 10.2 °
1010K-40F 10 10 125 _ 4.2 | 10.2 °
1212F-40F 12 12 85 _ 42 | 12.2 ABW15R.. T20 M4.0x 8 .
1212M-40F 12 12 150 4.2 | 122 °
1616M-40F 16 16 | 150 - 4.2 | 16.2 .
2020K-40F 20 20 125 - 4.2 | 20.2 °

SABWR 0810K-50F 8 10 125 - 8.2 | 10.2 .
1010K-50F 10 10 125 - 8.2 | 10.2 ®
1212F-50F 12 12 85 s 8.2 12,2 ABW23R.. T20 M4.0x8 .
1212M-50F 12 12 150 = g2l N1z °
1616M-50F 16 16 150 - 8.2 | 16.2 .
2020K-50F 20 20 125 = 8.2 | 20.2 e




B 52KETIN OTHERS

B KTKF& W
HESY RN 4§m 4
- TNES ]

KTKFR0808K-12 8 8 125 15

6 8 L]

1010K-12 10 10 125 15 6 10 L]

e e 12 | 12 | 85 | - | 6 | 12 | 1¢r q2R.. T20 | M45x8 | °

1212M-12 12 12 150 - 6 12 °

1616M-12 16 16 150 - 6 16 b

KTKFR0808K-16 8 8 125 15 8 8 L]

1010K-16 10 10 125 20 8 10 L

1212F-16 12 12 85 _ 8 12 TKF..16R.. T20 M4.5x8 °

1212M-16 12 12 150 - 8 12 L]

1616M-16 16 16 150 - 8 16 L

= TBPH I

BEEHMI -

TBPR/L08 8 10 | 120 | 5.5 4 3.5 .
10 10 | 10 | 120 | 5.5 2 35 »
12GX 12 | 12 | 85 | 55 0 3.5 TBP.. T5 D .
12 12 | 12 | 120 | &5 0 a5 .
13 13 | 13 | 120 | 55 0 35 .
16H 16 | 16 | 100 | 5.5 0 3.5 .
16 16 | 16 | 120 | 5.5 0 3.5 .
B TBVCE! #%F#imT NTK
rIJ;H - ; - .
W 4 -0 ’ TBVCR10 e 10|10 1
| 12 e 1212 136 12 7.5
TBVCE 1K 16 ® 16|16 16
10-F10 e 10|10 10 TBVC |M2.5X7| T8
VCGT1 103
12GX-F10] o | |, [, (85,
12-F10 | o 1200 7|0
TBVC11FRO5U 16H-F10 | o 100
16|16 16
TBVC11FR10U e | e | 635 -F10 ° 190
TBVC11FR10S | * * 20F-F10 | ® | 20| 20 | gg | 20
®TBTE  _hossmsmpgn
&)
L TBTR/LOSF | 8|8 88| |5 TB3200R/L 0.00| ®
- fuﬁ 08K |e 8|8 120/8| |5 3205R/L 0.05| e
- 10F | 10/1080/10| [3 3210R/L 0.10| ®
4.0
. 10K [e[10[10120[10 |3 | TF33 MAXI0OTIS| oo remitl 0.15] e
: 12F |e|12/12/80/12 1 3220R/L 0.20| e
e k15, — 12K [e12[1212012 |1
. SV Nﬂ Kg' — P TR 4 T3 1
hERILMI #ﬁ—. ;

SVNR 1010H12N
1212K-12N
1616K-12N
2020K-12N
2525M-12N

El4E A FLE ) FFT Bl i L Bk




B 5K ETIF OTHERS

mMERXEE o @ @ oS

NTK OCERA

m CTPE! in#Eme - .
WEEHMT __‘ T B

F1
-l

22 | ]
NTK | e —
P J

CTPR BAYEEZ1TImm

CTPR/LOS 8 | 10 | 120 | 8 3 | 5.5 .| "
10 10 | 10 [ 120 | 10 | 2 | 55 o | o
12GX 12 | 12 | 85 | 12 | 0 | 55 | crpummn i
12 1200 T2 20N OSSN o1 gy | T1s | Maoxs RSN
13 13 | 13 | 120 | 13 | 0 | 55 |rount i
16H 16 | 16 | 100 | 16 | 0o | 55 s
16 16 | 16 | 120 | 16 | 0 | 55 6| §

CTPAE! BRAVEHERISmm SESUHREMRA

CTPAR/L10 10 | 10 [ 120 [ 10 | 2 | 7.5 | crpadnsin) 3
" 12112 1120 |12 0\ 7S crpaxar )| Tis5 | maoxs | C | ®
16 16 | 16 | 120 | 16 | 0 | 75 | Tpouicoy .| »
20F 20 | 20 | 80 | 20 | o | 75 =

CTPWE RAMEHEZEIOMmM

CTPWR/L10 10 | 12 [ 120 [ 995 [1=06] 15 [ o ]
12 12 | 12 | 120 |11.95 f=06| 15 25.. e
16 16 | 16 | 120 |15.95 f=0.6 | 15 71 T2 M4'°X3‘ % (| » ‘
20 20 | 20 | 120 |19.95 =06 | 15 e

m CTPR-SUB#!

CTPR 08-SUB e 12[8[8 120[10] 4|
08J-SUB | 12|8|8110[10] 4
E[ 10F-SUB _|®|12]10[10{80[10|, | 2 | srrmmenus
I 10KX-SUB [e[12[10[10/120[10] "[2] ™™ | M4X5 T15
EI 12GX-SUB |*|12|12{12/85(12] |0
12-SUB e 12(12|12{120{12 0
WEHEEIR) CTPL 08-SUB e 128 |8 /120| 8 4
08J-SUB |e|12(8(8/110/ 8 b 2 E‘:T'Fi':'“: Maxs [T15
10GX-SUB |e 12|10{10 85|10 2| cmnn
12GX-SUB |#| 12|12|12 85[12 0
CTPAR 10GX-SUB |® 16|10/10/ 85|10 2
12GX-SUB |®| 16(|12{12 85|12[0.0] O ["5:0500Y ) M4aX5 [T15
[I 12KX-SUB |e | 16|12[1212012] | 0
T CTPAL 10GX-SUB (e 16(10|10 85|10 2
12GX-SUB [e 16[12[128[12| 0|
- 12KX-SUB |e|16[12[12120[12]"7 0 M4X5 | T15
16GX-SUB |¢| 16(16(16/85|16 0
BRALEFNL)
E LBMAR!
. v
= IR -
t BEHATIR) t ;
LEMD1020FLVB 10| 20| 0.00| @
LEMD1020FLPBOS 10| 6.0 | 0.05| »
LBMD2060FLVB 20( 60| 00| e
LEMD2060FLPBOS | 2.0 | 6.0 | D.05| »
LBMD1020FLVBS 10| 20| 000| ® LBMEZ060FLY 20| 60| 00w
LBMAR 105GX - 10 10| 10 [ 10 LEMD1020FLPBOSS 1.0 | 20 |0.05| » LBMEZ2060FLPOS 20| 860|005 &
108 o 10 [1w0][10]10 Lolpss LBMD1430FLVBS | 1.4 | 3.0| 00| » LBMEZ2060FLVE | 2.0 | 60| 0.0 | »
128 ™ 12 12 | 12 | 12 ul LEMD1430FLPBO5S 14| 3.0 | 0.05| » LEMEZ060FLPBOS 20| 6.0 |0.05 @
LBMAR 08 - a8 a8 a 8 LEMD1730FLVES 17| 30| 00| e LEMC3080FLY 30| 80| 00| e
10 = o o] M4.0%X10 | T15 LBEMD1730FLPBOSS 1.7 | 30|005| & LBMC3080FLPOS 30| 80D |0D05| @
F— LBMD2035FLVBS | 2.0 | 35| 00| » LBM3080FLVE 30|80 00|e
10-F B 10 |00 40 A0 T-D LBMD(E)2060 LBMD2035FLPR0SS | 2.0 | 3.5 | 0.05 » LBM3080FLPBOS | 3.0 | 8.0 | 0.05| @
12 &) 1z J12]12]12 &6 LEMD2335FLVES 23| 35| 00| e LEMC3080FLVE 30|80/ cofe
16 - 18 16 | 16 | 16 LEMD2335FLPB05S | 23 | 35 | 005| & LBMC3080FLPBOS 30| 880|005 ®




€Y FMmIssutEsE

ussharp  Cutting Parameter Calculation for Turning

1. 1JHLEERSTE  Formula for Cutting Speed

nxDxn
a. External Turning VC - (m/min)
EANE N S 1000
n e Ve PIEIERE  (m/min)
— E C Cutting Speed (m/min)
) o n: LR (rev/min)
Feed Rotating Speed of Spindle (rev/min)
o D: THERE (mm)
b. Internal Turning Diameter of Workpiece (mm)
ERTL
P PO Blhn: EimEEERA300 rev/min , IITARIERH180 mm,
g.\ n .'
- *Q* ] E‘E ML :
———  Feed 3.14 x 180 x 300
(m/min) = 170 (m/min)

Vcs=
1000

2. HEEBAYITE  Formula for Feeding Speed

[
fn= (mm/rev)
n

wtep: o GIGHAE (mm/rev)
Feed Rate per Revolve (mm/rev)

l: SO ¢IHASE  (mm/min)
Cutting Length per Minute (mm/min)

n: F4HEEIR (rev/min)
Rotating Speed of Spindle (rev/min)

fFlan: EimdEE9500 rev/min , SSEYIEHCE120 mm,

NESEHEREA:
120
fn= (mm/rev) = 0.24 (mm/rev)
500

3. tNHEREANTE  Formula for Cutting Depth

ap = (mm)

dF: D/ d:#EnIar/ FERIERE (mm)

D : Diameter Before Cutting (mm)

- 48____ _____ 6:1 - d : Diameter After Cutting (mm)
fFen: INTAHEHRIAER 180 mm, MEITHER
fasdl 2 35160 mm, MULIEIRES:
180- 160
——— (mm) = 10.0 (mm)

ap=



5

* WA 4TIk &EFE TR, PCDy PCBN JJKL
* R AL Tl gk T] &5

* B AR ) k)

* 5 e R ANk T 2R

*FLMLTTH. 248, /T
*BAEER GEOML ETIN) Kk §F

* BARZET)S BET1TIAF B 1A

* R BLH R

WER B -
ARL LVECU e E
© BRHEAF

AEbRITAL :

i VAEY ]

* RMBAEETIR BRI

TR GEOHL ETIHD Rk BE

FIN BRI IR AR 4
SHENZHEN Ussharp Cutting Technology Co. LTD

Tel: (86)755-26996606
Fax: (86)755-29631262
Mail: sales@ussharp.com
Web: www.ussharp.com
Add: R 5222 DXAR i 187 10 e 1 1 495
Number 49, Bang Gang Road, Songgang,

BaoAn District, ShenZhen, Guangdong





